



STC SOUTH CAMBERWELL CRICKET CLUB

ANNUAL REPORT 2010/11





Bendigo Bank

1 June 2011

Dear Member,

On behalf of President Daniel Sharpe and the Committee, it is my great pleasure to table the 2010/11 STC South Camberwell Cricket Club Annual Report.

This report is the 44th to be presented to our members and includes reports from our six senior teams, the highly successful junior program and extensive player statistics.

Special thanks must go to everybody that made a contribution to the preparation of this report, in particular John Krohn for his assistance with statistical and historical information.

Sincerely,

Kylie Zennaro Secretary

STC SOUTH CAMBERWELL CRICKET CLUB PO BOX 2037

CAMBERWELL WEST VIC 3124

T: 0417 053 613

E: <u>INFO@STCCRICKET.COM.AU</u>
W: <u>WWW.STCCRICKET.COM.AU</u>

CONTENTS

Honour Board	5
OFFICE BEARERS	7
Sponsors	8
Premierships	9
HALL OF FAME	9
LIFE MEMBERS	10
SPECIAL AWARDS 2010/11	10
Presidents Report	11
JUNIOR SECTION REPORT	12
Junior Awards	12
First XI Report	13
FIRST XI STATS 2010/11	
TEAM RECORDS 2010/11: FIRST XI	15
OVERALL TEAM RECORDS TO END 2010/11: FIRST XI	
SECOND XI REPORT	17
SECOND XI STATS 2010/11	
TEAM RECORDS 2010/11: SECOND XI	19
Overall Team Records To End 2010/11: Second XI	
THIRD XI REPORT.	21
THIRD XI STATS 2010/11	
TEAM RECORDS 2010/11: THIRD XI	24
OVERALL TEAM RECORDS TO END 2010/11: THIRD XI	25
FOURTH XI REPORT	26
FOURTH XI STATS 2010/11	26
TEAM RECORDS 2010/11: FOURTH XI	28
OVERALL TEAM RECORDS TO END 2010/11: FOURTH XI	29
FIFTH XI REPORT	30
FIFTH XI STATS 2010/11	31
TEAM RECORDS 2010/11: FIFTH XI	
OVERALL TEAM RECORDS TO END 2010/11: FIFTH XI	34
CLUB XI REPORT	35
CLUB XI STATS 2010/11	
TEAM RECORDS 2010/11: CLUB XI	
OVERALL TEAM RECORDS TO END 2010/11: CLUB XI	
TOP TENS - 2010/11	39
TOP 10 PERFORMERS IN STC HISTORY	40
All Player Performances 2010/11	42
T20 Performances 2010/11	
T20 AGGREGATE PERFORMANCES TO END 2010/11	
ALL PLAYER PERFORMANCES (AGGREGATE) TO END 2010/11	48

HONOUR BOARD

SEASON	President	SECRETARY	FIRST XI CAPTAIN	CLUB CHAMPION	Best Clubman	BASIL FINNIGAN MEDALLIST
1967/68	A Yarwood	A Burt	A Burt	D Harrison		
1968/69	G Mazoletti	K Burt	A Burt	urt D Harrison		
1969/70	G Mazoletti	K Burt	A Yarwood	M Cain		
1970/71	G Mazoletti	K Burt	A Yarwood	M Cain		
1971/72	A Burt	K Burt	A Yarwood	J Martin		
1972/73	A Burt	K Burt	A Yarwood	M Cain		
1973/74	A Burt	K Burt	K Burt	J Martin		
1974/75	A Burt	K Burt	K Burt	B Finnigan		
1975/76	A Yarwood	M Wignell	K Burt	G Wignell	K Burt	
1976/77	A Yarwood	M Wignell	K Burt	M Robertson	M Yarwood	
1977/78	P Sandilands	P Spithill	P Sandilands	G Wignell	B Brell	
1978/79	P Sandilands	P Spithill	P Sandilands	G Wignell	E Fitzwilliam	
1979/80	P Sandilands	E Fitzwilliam	P Sandilands	G Wignell	J Spithill	
1980/81	P Sandilands	E Fitzwilliam	P Sandilands	G Wignell	J Spithill	
1981/82	P Sandilands	E Fitzwilliam	G Wignell	G Wignell	P Pawsey	
1982/83	P Sandilands	P Pawsey	P Sandilands	G Wignell	P Stewart	
1983/84	R Fitzwilliam	P Pawsey	B Cain	B Cain	B Docherty	
1984/85	R Fitzwilliam	P Pawsey	K Burt	C Hoare	Mrs D Burt	
1985/86	K Burt	Mrs M Smith	K Burt	C Hoare	M Drew	G Walker
1986/87	K Burt	P McHenry	C Hoare	C Hoare	D Zennaro	P Wignell
1987/88	K Burt	P McHenry	B Docherty	G Wignell	P McHenry	G Wignell
1988/89	K Burt	E Fitzwilliam	B Docherty	B Docherty	P Docherty	B Docherty E Fitzwilliam G Wignell
1989/90	I Constable	E Fitzwilliam	B Docherty	M Learmonth	J Murray	M Learmonth

SEASON	PRESIDENT	SECRETARY	FIRST XI CAPTAIN	CLUB CHAMPION	Best Clubman	BASIL FINNIGAN MEDALLIST
1990/91	I Constable	E Fitzwilliam	B Docherty	M Learmonth	R Molloy	G Walker
1991/92	B Docherty	R Molloy	B Docherty	B Docherty	P McHenry	G Walker
1992/93	B Docherty	K Burt	P Docherty	P Williams	R Hoich	P Williams
1993/94	B Docherty	K Burt	P Docherty	P Williams	M Molloy	J Hall C Hoare
1994/95	B Docherty	S Ross	B Docherty	B Docherty	Mrs K Burt	C Wood
1995/96	G Chard	S Ross	P Warcarba	B Docherty	A Purcell	B Docherty
1996/97	G Chard	S Ross	P Warcarba	P Warcarba	A Daly	P Warcarba
1997/98	S Ross	S Waller	P Warcarba	P Warcarba	A Tracey	R McDowall D Burt
1998/99	S Waller	S Weerasinghe	S Joyce	B Docherty R McDowall	J Di Stefano	M Thackwray
1999/00	R Corbett	P Zennaro	B Docherty	B Docherty	P Lynch	M Pivetta
2000/01	R Corbett	P Zennaro	S Joyce	D Sotiriadis	P Morrison	L D'Astoli
2001/02	G Chard	P Zennaro	P Fisicaro	B Docherty	R Corbett	S Hoy M Pivetta
2002/03	G Chard	P Zennaro	P Fisicaro	S O'Connell	P Fisicaro	S Hoy J Krohn
2003/04	Dr T Bach	P Zennaro	P Fisicaro	S O'Connell	G Chard	L D'Astoli
2004/05	Dr T Bach	N Fennessy	S O'Connell	S O'Connell	A Michaelides	M Mitchell
2005/06	S Hoy	Mrs K Zennaro	S O'Connell	S O'Connell	P Zennaro	D Smith
2006/07	S Hoy	Mrs K Zennaro	S O'Connell	S O'Connell	R & K Corbett	N Hodgson
2007/08	S Hoy	Mrs K Zennaro	S O'Connell	L D'Astoli	S O'Connell	L D'Astoli
2008/09	P Zennaro	Mrs K Zennaro	S O'Connell	Tom Bach	M Francis	A Ross
2009/10	P Zennaro	Mrs K Zennaro	S O'Connell	S O'Connell	Mrs K Zennaro	P Morrison
2010/11	D Sharpe	Mrs K Zennaro	S O'Connell	S O'Connell	J Krohn	S O'Connell

OFFICE BEARERS

PRESIDENT Daniel Sharpe

VICE PRESIDENT (SENIOR) Luke D'Astoli

VICE PRESIDENT (JUNIOR) Stuart Hamilton

SECRETARY Kylie Zennaro

Treasurer Daniel Burt

COMMITTEE Tom Bach

Ben Banks-Smith

Tanya Clark

Matthew Francis
David Hennessy

Martin Lynch

Michael O'Connell

Tom Sandilands

1st XI Captain Stephen O'Connell

2ND XI CAPTAIN Dom Doyle

3RD XI CAPTAIN Peter Morrison

4TH XI CAPTAIN Peter Lynch

5TH XI CAPTAIN Tom Casha

CLUB XI CAPTAIN Eugene Fitzwilliam

ECA DELEGATES Matthew Francis

Kylie Zennaro

Public Officer Eugene Fitzwilliam

PARKS AND GARDENS John Krohn

HOWZAT EDITOR Martin Lynch

SELECTION COMMITTEE Jack Krohn (Chairman)

Russ Flint

Brad Craine

SPONSORS

Our sponsors are vital to keeping our club alive. We value their support, as much as they value our continued custom and referral. Please utilise their services, and let them know you are from STC.

SPONSOR	CONTACT	TELEPHONE	WEBSITE/EMAIL
JA CAIN FIRST NATIONAL REAL ESTATE	Brian Cain	9805 2900	www.jacain.com.au
BENDIGO COMMUNITY BANK ASHBURTON, CANTERBURY & SURREY HILLS BRANCHES	Linda Jones	9885 2666	www.bendigobank.com.au
CAMBERWELL SOUTH CELLARS	James Hall	9889 6119	www.camberwellsouthcellars.com.au
BEHAN & BEHAN PTY LTD	Ed Behan	9877 3577	ebehan@behan.com.au
QUEST APARTMENTS PRAHRAN	Sarah Behan	9823 8888	www.questprahran.com.au
PLAYERS EDGE SPORTS	Cameron Toomey	9886 0911	www.playersedge.com.au
PURCELL AND PURCELL	Anthony Purcell	9741 3777	anthony@purcellandpurcell.com.au
CUSTOM FINANCIAL AND RETIREMENT SOLUTIONS	Bernard Docherty	9590 0094	www.cfrs.amp.com.au
BACK IN MOTION	Adrian Quinn	9889 3903	www.backinmotion.com.au/practice/details/camberwell1
HAWTHORN INDOOR SPORTS CENTRE	Len Vincent	9882 7960	www.hisc.websyte.com.au
SANDILANDS EXPORT	Peter Sandilands	0417 576 242	sandilands@primus.com.au
CONTOURS CAROLINE SPRINGS	Matthew Francis	8361 9842	www.contours.net.au/go/studio/Caroline+ Springs
MERKON CONSTRUCTIONS	Peter Mercoulia	9555 3999	www.merkon.com.au

PREMIERSHIPS

1968/69 1st XI ESCA "A" Grade Matting

1970/71 1st XI ESCA "A" Grade Matting

1977/78 2nd XI ESCA "C" Grade Matting

1978/79 3rd XI ESCA "E" Grade Matting

1980/81 3rd XI ESCA "E" Grade Matting

1987/88 1st XI ESCA "A" Grade Matting

1995/96 3rd XI ESCA "C" Grade Matting

1998/99 4th XI ESCA "D" Grade Non Turf

2001/02 1st XI ECA Burt Shield

2001/02 2nd XI ECA "A" Grade God

2002/03 2nd XI ECA Burt Shield

2002/03 4th XI ECA "B2" Grade Blue

2002/03 Club XI ECA One Day Division 2

2003/04 1st XI ECA Macgibbon Shield

2003/04 2nd XI ECA Burt Shield

2008/09 1st XI ECA Macgibbon Shield

HALL OF FAME

2002 Kevin Burt

2002 Basil Finnigan

2002 Peter Sandilands

2002 Greg Wignell

2002 Alan Yarwood

2007 Chris Hoare

2007 Michael Wignell

LIFE MEMBERS

1975 Alan Burt

1975 Alan Yarwood

1977 Kevin Burt

1977 Peter Sandilands

1978 Robert Fitzwilliam

1980 Michael Wignell

1984 Eugene Fitzwilliam

1990 Bernard Docherty

1991 John Krohn

1991 Bryan Cain

1991 Joe Cain

1993 Paul McHenry

1993 Peter Pawsey

1995 Justin Murray

1995 Tim Allen

1999 Patrick Docherty

1999 Basil Finnigan

2005 Anthony Michaelides

2007 Tim Bach

2008 Garry Chard

2010 Paul Zennaro

2011 Richard Corbett

SPECIAL AWARDS 2010/11

BASIL FINNIGAN MEDALLIST Stephen O'Connell

BEST CLUBMAN Jack Krohn

MOST IMPROVED PLAYER Beau Coyle

BEST FIRST YEAR PLAYER Matthew Williams

STUART HAMILTON AWARD Richard McDonald

T20 PLAYER OF THE YEAR Sam Fairbrother

PRESIDENTS REPORT

The 2010/11 year has been quite an extraordinary journey both on and off the field for the club. It was my first year as President, and I found it both challenging and rewarding.

We were able to secure Warner Reserve for two of the senior teams (replacing Nettleton West due to risk concerns) and with the application of the summer grass program and club room rebuild, Warner Reserve will be an extremely good ground, very close to the 'field of dreams'.

Off field, Thursday dinners have been a great success and the Saturday night social events were extremely successful. I'm very appreciative of the support that the current and past players and their families provided to all of these events.

On field, we built a relationship with a coach who is extremely experienced and was able to provide skills training and group improvement, and I felt that training was significantly improved by his direction and mentoring. The season itself was very interesting, the weather severely hampered preparations in playing two day cricket, of which only one game was actually played before Christmas. Although we did not win any flags this year, there were a number of teams playing semi-finals (1st XI, U14), and grand finals (U16 and Club XI) – which the entire club supported in full voice.

I'd like to recognise a number of players who passed significant milestones this year, Peter Lynch (250 games), Mark Molloy (250 games) and Eugene Fitzwilliam (300 games). I also like to congratulate Steve O'Connell for winning the Stuart Medal for the ECA and both Luke D'Astoli and Steve O'Connell for selection in the ECA Team of the Decade.

I'd like to congratulate Jack Krohn, his tireless efforts over the past twelve months as Chairman of Selectors, STC Statistician, official T20 scorer and his work on the awards policies were recognised as the STC Best Club Person for the 2010-11 season.

I'd also like to acknowledge, Richard Corbett, who was inducted as an STC Life Member for his twenty years of service to STC. His commitment as a Past President, Committee Member, Captain, Vice Captain and active club person has assisted in reshaping STC into the prosperous and successful club that we all enjoy today.

Finally, I would like to thank the Executive Committee and the committee as a whole. They have worked tirelessly over the last 12 months for the club and provided me with the support that I needed and given the club the ability to launch into the 45th Anniversary year successfully.

Thank you for your support.

DAN SHARPE

CLUB PRESIDENT

JUNIOR SECTION REPORT

After a successful registration day the club was faced with decisions about entering one or two teams in each age group. Numbers were a little light for two teams but we had too many kids for one team in each age group. In the end we ran with one U10 team, two U12 teams, one U14 team, one U16 team and a combined U16 team with Ashburton Willows.

We also had a thriving MILO In-2-Cricket clinic run on a Tuesday by Tim Bach. More than 50 kids were seen developing their batting, bowling and fielding. I must thank the senior players that helped in the development of these young future club members.

The season was a challenge with many rounds being washed out and many kids being frustrated by the lack of cricket being played in the early rounds. Friday night games were often interrupted after the tea break by heavy rain. This included the flooding of Gardiners creek one night where the ovals were covered in water.

Despite the extraordinary season, STC Juniors had a good season. Our U10 team finished at the top of their grade (no premierships awarded for U10 by the ECA), the U14 team lost a semi final by washout, and the U16 team had a very competitive loss in a grand final.

A big thank you to all parents that helped out as team managers and coaches. Thank you to all senior players that gave up their time at junior training. Thank you to the committee for their support through the year.

STUART HAMILTON

JUNIOR VICE PRESIDENT

JUNIOR AWARDS

	BOWLING AWARD	BATTING AWARD	TEAM MANAGER AWARD	MOST IMPROVED
U10	Oliver Bilston	Chad Bobrow	Joel Lagastes	
U12 RED	Phillip Borg	Dion Di Battista	James Brasington	Charlie Falconer
U12 BLUE	Joseph Ayton- Delaney	Patrick O'Leary	Thomas Briggs	Offame Falconer
U14	James Jaensch	Fred Oldfield	Tom Shatin	Richard Beaton
U16	Alex Brebner-Griffin	Mark Shallue		Alex Brebner-Griffin

U16 TEAM CHAMPION — Mark Shallue
U10 SPIRIT OF CRICKET — Archie King
U12 GEORGE COLEMAN — Ben Jackson
JUNIOR CLUB CHAMPION — Fred Oldfield
JUNIOR BEST CLUBPERSON — Tom Bach

FIRST XI REPORT

After failing to make the finals last season for the first time in 9 years the 1st XI was extremely keen on making amends for the poor finish. We played a total of 19 games this season which included 6 twenty20 games in the ECA Primary Edge Cup. Of these 19 games the 1st XI lost only two and had one draw from a washout. So from these figures it's fair to say we definitely made amends for last season's poor showing. However in saying this, as good and consistent season we had, we still didn't manage to take home the Macgibbon Shield.

This season we started with five wins out of our first six games, which had us on top of the ladder going into Christmas, with only an unsuccessful run chase against Wyclif the blemish to our campaign. This loss would turn out to be our only loss for the home and away season. In total we played 12 home and away games with 10 wins, one loss and one washout. With all the rain that Melbourne endured this summer, the 1st XI played only two 2-day games for the entire season, as well as two draws from rain affected days. The lack of two-day cricket was unfortunately evident in our batting during the semi-final, where we collapsed to 5/39 and were unable to recover from this position, going down for only our second loss to eventual premiers Deepdene.

Although we didn't manage to achieve our goal of a premiership, we still had a successful season with many highlights and positives. The emergence of Beau Coyle as a 1st XI player was fantastic to see. Beau played the whole season in the 1st XI in both the Macgibbon shield and Twenty20 cup, and performed admirably with plenty of match winning performances, eventually leading to him winning the Most Improved Award.

Sam Fairbrother again had another fantastic Twenty20 season, with a Man of the Match performance in the Grand Final, and again taking out the Twenty20 Player of the Year Award. We look forward to Sammy taking his twenty20 form into the Macgibbon Shield next season. Another highlight worth mentioning was our 'come from behind' win against Trinity. With 5 overs left Trinity needed only 22 runs to win with seven wickets in hand. In the last five overs we took five wickets which included a hat trick from Luke D'Astoli and contained them to only another 13 runs, to record a memorable win.

As stated earlier we played six twenty20 games in the ECA Primary Edge cup. We won all six games and took home the cup in a great result for the club. These wins included the semi-final at Toorak Park against Ashburton Willows who went on to win the Dunstan Shield this season, as well as North Balwyn who we defeated in the tournament Grand Final and play in the Dunstan Shield also. The boys had a fantastic twenty20 tournament with some close and hard fought wins, including a bowl off win against last seasons' Dunstan Shield premiers Mont Albert. Taking home the twenty20 cup gives us another opportunity to play at the MCG next season, with the tournament winner taking part in the statewide competition.

I'd like to thank Dan Sharpe and the all the committee for their tireless efforts this season. The club cannot move forward without these volunteers giving up their time for the club and it is greatly appreciated. I'd also like to thank my vice-captain Luke D'Astoli who again did a fantastic job with his leadership both on and off the ground. Thanks also to all the players who played in the 1st XI, not the final result we were all hoping for, but a solid season nonetheless which can give us great cause for hope for next season.

Finally I'd like to thank the club. This is my final year as captain of this fantastic organization. It's been an awesome seven seasons, and a pleasure and honour to lead the 1st XI over this period. Change is exciting, and I'm sure it will be an exciting time as the 1st XI and club move into a new era. Thanks again.

GO SAINTERS!!

STEVE O'CONNELL

FIRST XI CAPTAIN

FIRST XI STATS 2010/11

Player	From	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	ВВ	C(F)	C(W)	St
Bach Tom	98/99	13	284	12	23.7	2	0	86*	-	-	-	-	-	6	-	-
Banks-Smith B	98/99	3	21	3	7.0	0	0	10	-	-	-	-	-	1	-	-
Classon A	02/03	8	41	2	20.5	0	0	18*	15	165	11.0	0	3/9	3	-	-
Coyle B	03/04	13	116	9	12.9	0	0	35	16	285	17.7	0	4/3	3	-	-
D'Addazio A	04/05	11	36	3	12.0	0	0	20*	11	282	25.6	0	2/22	3	-	-
D'Astoli L	96/97	12	181	6	30.2	0	0	37	20	284	14.2	0	4/45	9	-	-
DiStefano Julian	92/93	4	45	4	11.3	0	0	39	-	-	-	-	-	1	-	-
Fairbrother S	09/10	13	187	10	18.7	0	0	44	11	259	23.5	0	3/13	9	-	-
Flint R	06/07	13	300	11	27.3	1	0	58	-	-	-	-	-	5	-	-
Fogarty D	07/08	6	3	4	0.8	0	0	2	5	119	23.8	0	3/31	0	-	-
King A	08-09	2	2	2	1.0	0	0	1	0	3	-	0	0/3	1	-	-
O'Connell D	96/97	13	198	13	15.2	1	0	53	-	-	-	-	-	5	-	-
O'Connell M	99/00	3	13	2	6.5	0	0	8	0	44	-	0	0/9	0	-	-
O'Connell S	93/94	13	673	10	67.3	8	0	84	-	-	-	-	-	-	20	1
Sharpe D	03/04	4	28	4	7.0	0	0	16	-	-	-	-	-	0	-	-
Worthy R	03/04	13	10	5	2.0	0	0	6	13	243	18.7	0	2/1	6	-	-

TEAM AWARDS

Batting Champion - Steve O'Connell 673 runs @ 67.3, Highest Score 85

Bowling Champion – Luke D'Astoli 20 wickets @ 14.2, Best 4/45

Club Champion – Steve O'Connell 873 points. 673 runs @ 67.3, Highest Score 85, 20 catches, 1 stumping (as keeper), contributor to 4 run-outs.

TEAM RECORDS 2010/11: FIRST XI

WKT	PARTNERS	Runs	OPPOSITION
1	Tom Bach & D O'Connell	71	Wyclif
2	Tom Bach & R Flint	70	Trinity Willison
3	S Fairbrother & S O'Connell	65*	Clifton Hill
4	S O'Connell & R Flint	128*	Burwood Uniting Canterbury
5	S O'Connell & D Sharpe	67	Manningham
6	S O'Connell & S Fairbrother	87	Deepdene Uniting
7	L D'Astoli & B Coyle	39	Deepdene Uniting
8	B Coyle & A Classon	23	Trinity Willison
9	B Coyle & A D'Addazio	46	Deepdene Uniting
10	A D'Addazio & R Worthy	11	Wyclif

TEAM'S HIGHEST SCORE	6/227	Manningham
TEAM'S LOWEST SCORE	154	Wyclif
HIGHEST SCORE AGAINST	183	Manningham
LOWEST SCORE AGAINST	38	Trinity Willison
HIGHEST INDIVIDUAL SCORE	Tom Bach	86* v Clifton Hill
HIGHEST AGGREGATE	S O'Connell	673 @ 67.3
BEST BOWLING PERFORMANCE	B Coyle	4/3 v Burwood Utg Canterbury
MOST WICKETS IN SEASON	L D'Astoli	20 @ 14.2
MOST CATCUES IN STASON (FIELDED)	L D'Astoli	9
MOST CATCHES IN SEASON (FIELDER)	S Fairbrother	9
MOST CATCHES IN SEASON (KEEPER)	S O'Connell	20
MOST STUMPINGS IN SEASON	S O'Connell	1

OVERALL TEAM RECORDS TO END 2010/11: FIRST XI

WKT	PARTNERS	Runs	OPPOSITION	SEASON	
1	R MacDowall & R Moore	170	Mulgrave	1997/98	
2	K Burt & P Liddy	219	AYC	1970/71	
3	G Wignell & P Sandilands	280	Glen Iris	1975/76	
4	B Finnigan & M Robertson	213	Canterbury	1976/77	
5	J Martin & W Pendry	194	Doncaster	1973/74	
6	W Pendry & J Sullivan	224	Glen Iris	1974/75	
7	G Wignell & B Finnigan	135	Ashwood	1980/81	
0	M Duggan & E Fitzwilliam	113	South Camberwell	1987/88	
8	B Docherty & A Michaelides	113	Box Hill South	1990/91	
9	D Harrison & G Burt	120	Wattle Park	1971/72	
10	A Nicholson & D Spithill	A Nicholson & D Spithill 82 B'wood Utg C'bury			
		F/F00		4000/00	
IEAM'S	HIGHEST SCORE	5/503	Kooyong	1998/99	
TEAM'S	LOWEST SCORE	34	Park Orchards	1969/70	
HIGHE	ST SCORE AGAINST	8/395	AYC	1980/81	
Lowes	T SCORE AGAINST	33	Wattle Park	1967/68	
HIGHE	ST INDIVIDUAL SCORE	228	Mark Robertson	1976/77	
HIGHEST AGGREGATE		723	Chris Hoare	1985/86	
BEST BO	OWLING PERFORMANCE	10/52	John Aspinall	1973/74	
Most	WICKETS IN A SEASON	68	Michael Learmonth	1989/90	
Most	CATCHES IN A SEASON	37	Kevin Burt	1968/69	

18

MOST STUMPINGS IN A SEASON

1972/73

Kevin Burt

SECOND XI REPORT

The 2nd XI experienced a mixed year with regard to performances and results. At times, the team displayed high-class cricket. At others, we struggled to maintain consistent efforts which had the effect of letting our opposition secure often less than convincing wins. The season came to a head in the last round, whereby a victory from either side secured that team a finals birth. We lost narrowly, though we equipped ourselves well under pressure. In the end, the 2nd XI finished the season in 5th place. Throughout the season there were some standout performances with both the bat and ball and a couple of inspiring wins. These are the things I'll focus on here.

In the beginning of the season the top order performed particularly well, with a couple of standout knocks. In the first game against BUCCC Daniel Sharpe made 76, while Jules Di Stefano, in the following match, compiled 69 runs against Trinity striking the ball with ease and power. In a hard fought game out at North Balwyn, Mick O'Connell (44) and Benny Banks-Smith (41) worked hard in trying conditions to give us a sniff. We narrowly lost that game to the eventual premiers. Fabian D'Addazio (32) and D Sharpe (97) compiled an excellent partnership to steer our team home against eventual grand finalists Deepdene. In the final game, where cool heads were required, D Sharpe (63) and Andy Krohn (40) stood up with the bat and again gave us a fighting chance against Trinity.

The bowling attack of the 2nd XI was one of the strongest in the grade. Loz Colman opened the bowling throughout the year finishing with an average of 8.6. More impressively was his economy rate of 1.9 from 92 overs. Taking 5/9 in the second round of the year and helping us to our first win kick-started Loz's season and he deservedly won the bowling average for Burt Shield. Our other regular bowlers – Dom Doyle, Matt Williams, Andy Krohn, and Mick O'Connell all put in strong performances throughout the year. Krohn picked up 4/20 against North Balwyn, while Matt Williams took his best bowling figures against BUCCC with 3/27. Mick O'Connell had a day out against Burwood taking 6/28, while Andrew Classon took 8/29 in two innings against Blackburn North United.

Classon's performance with the ball against Blackburn brings me to my favourite match and win of the season. We were at home and rolled Blackburn cheaply in the first innings for 97. As it happens, very early on the second Saturday the 2nd XI was bowled out for 92 – five runs short. This was Blackburn's first win for the year...or was it? I decided to send Blackburn in again. They 'deathed' for sometime but our bowlers were patient, testing, and accurate. We rolled them for 47 at exactly 5.31pm. We had 19 minutes to bat which equated to six overs and required 53 runs for victory. We scored seven from the first over and the task appeared great. However, we took over 30 runs from their next over, thanks to some powerful straight hitting by BBS. Classon smashed a 6 and Loz hit the winning runs with 4 balls to spare. Blackburn players were shattered and we were pumped. Never give up in a game of cricket.

Season 2011/12 holds much promise for STC's 2nd XI. It is an opportunity to build on the promising performances of the previous season and focus on developing consistency within and between games of cricket. I encourage all players to participate in pre-season cricket training, set some performance goals and work hard at achieving them throughout the year.

On a final note I want to again thank those who supported me in my role as captain of the 2nd XI. In particular I want to thank Jules, General, Sharpey, Brad, and BBS who provided invaluable advice and direction on game-day. Captaining was far more enjoyable for their input.

Finally, I want to thank the club for giving me the opportunity to captain an STC cricket team. Each time I took to the field with the team under my charge and wearing the red cap, I did so with pride.

Go Saints.

DOM DOYLE

SECOND XI CAPTAIN

SECOND XI STATS 2010/11

Player	From	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	ВВ	C(F)	C(W)	St
Anthony J	09/10	5	72	7	10.3	0	0	32	0	31	-	0	0/31	3	-	-
Banks-Smith B	98/99	8	178	9	19.8	0	0	41	1	60	60.0	0	1/26	5	-	-
Burt A	94/95	3	46	3	15.3	0	0	29	-	-	-	-	-	1	-	-
Burt D	03/04	3	40	3	13.3	0	0	16	-	-	-	-	-	0	-	-
Classon A	02/03	1	10	1	10.0	0	0	8*	8	29	3.6	1	5/20	3	-	-
Colman L	02/03	8	17	7	2.4	0	0	10	20	172	8.6	1	5/9	4	-	-
Craine B	02/03	4	41	4	10.3	0	0	32	-	-	-	-	-	1	-	-
D'Addazio F	07/08	8	72	7	10.3	0	0	32*	5	120	24.0	0	2/36	3	-	-
Di Stefano J	92/93	4	114	5	22.8	1	0	69	-	-	-	-	-	-	7	0
Doyle D	07/08	10	57	6	9.5	0	0	19	19	317	16.7	0	4/52	3	-	-
Elliott G	01/02	7	95	8	11.9	0	0	35	0	2	-	0	0/2	8	-	-
Hamilton A	06/07	3	104	2	52.0	1	0	53*	2	45	22.5	0	1/17	2	-	-
King A	08/09	2	33	2	16.5	0	0	33	3	70	23.3	0	2/37	1	-	-
Krohn A	06/07	9	98	3	32.7	0	0	40	11	218	19.8	0	4/20	4	-	-
McArdle R	10/11	1	5	1	5.0	0	0	5	0	22	-	0	0/22	1	-	-
Morrison P	99/00	2	18	2	9.0	0	0	14	0	33	-	0	0/33	0	-	-
O'Connell M	99/00	6	81	6	13.5	0	0	44	9	144	16.0	1	6/28	4	-	-
Sandilands T	98/99	2	19	2	9.5	0	0	19	-	-	-	-	-	1	-	-
Sharpe D	03/04	7	300	7	42.9	3	0	97	-	-	-	-	-	2	-	-
Sharpe T	05/06	6	19	2	9.5	0	0	11*	-	-	-	-	-	-	6	0
Spithill D	97/98	2	2	2	1.0	0	0	2	0	21	-	0	0/16	2	-	-
Williams M	03/04	9	67	9	7.4	0	0	19	10	229	22.9	0	3/27	1	-	-

TEAM AWARDS

Batting Champion – Daniel Sharpe 300 runs @ 42.9, Highest Score 97

Bowling Champion – Lawrence Colman 20 wickets @ 8.6, Best 5/9

Club Champion – Lawrence Colman

345 points. 17 runs @ 2.8, highest score 10, 20 wickets @ 8.6, Best 5/9, 4 catches

TEAM RECORDS 2010/11: SECOND XI

WKT	PARTNERS	Runs	OPPOSITION
1	A Burt & M Williams	32	Glen Iris
2	J Di Stefano & B Banks-Smith	65	Trinity Willison
3	G Elliott & D Sharpe	48	Burwood Utg Canterbury
4	M O'Connell & J Anthony	59	North Balwyn Combined
5	J Di Stefano & M O'Connell	38	Trinity Willison
6	D Sharpe & F D'Addazio	120	Deepdene Uniting
7	D Burt & T Sharpe	32	Deepdene Uniting
8	D Doyle & A Krohn	50	Trinity Willison
9	T Sandilands & A Krohn	21*	North Balwyn Combined
10	A Krohn & D Doyle	22*	Glen Iris

TEAM'S HIGHEST SCORE	6/239	Deepdene Uniting
TEAM'S LOWEST SCORE	74	Glen Iris
HIGHEST SCORE AGAINST	7/226	Trinity Willison
LOWEST SCORE AGAINST	47	Blackburn North United
HIGHEST INDIVIDUAL SCORE	D Sharpe	97 vs Deepdene Uniting
HIGHEST AGGREGATE	D Sharpe	300 @ 42.9
BEST BOWLING PERFORMANCE	M O'Connell	6/28 vs Burwood Utg Canterbury
MOST WICKETS IN SEASON	L Colman	20 @ 8.6
MOST CATCHES IN SEASON (FIELDER)	G Elliott	8
MOST CATCHES IN SEASON (KEEPER)	J Di Stefano	7

OVERALL TEAM RECORDS TO END 2010/11: SECOND XI

WKT	PARTNERS	Runs	OPPOSITION	SEASON
1	S McCulloch & A Nicholson	265	North Balwyn	1999/2000
2	B Finnigan & R Lagreca	209	Mulgrave	1984/85
3	Julian Di Stefano & S Hoy	218	Preshil	2007/08
4	P Docherty & K Lynch	179	Ashwood	1981/82
_	P Sandilands & M Griffiths	131	Deepdene	1985/86
5	D Balthazaar & J Leahy	131	West Hawthorn	1973/74
6	Tom Bach & M Molloy	190	B'wood Utg Canterbury	2003/04
7	F D'Addazio & B Craine	141	Preshil	2008/09
8	M Crossin & P Wignell	126	Box Hill South	1979/80
9	K Lynch & A Deith	134	Burwood	1984/85
10	P Docherty & D Stoney	146*	R'dale-B'dara	1997/98

TEAM'S HIGHEST SCORE	7/463	East Doncaster	1979/80
TEAM'S LOWEST SCORE	37	Box Hill South	1987/88
HIGHEST SCORE AGAINST	588	St Kevins	1975/76
LOWEST SCORE AGAINST	14	North Balwyn	1972/73
HIGHEST INDIVIDUAL SCORE	250*	Basil Finnigan	1979/80
HIGHEST AGGREGATE	568	Richard Corbett	1999/2000
BEST BOWLING PERFORMANCE	9/18	Paul Aspinall	1972/73
MOST WICKETS IN A SEASON	51	Stephen Hoy	2001/02
MOST CATCHES IN A SEASON	32	Julian di Stefano	2001/02
		John Krohn	1986/87
MOST STUMPINGS IN A SEASON	6	Patrick Spithill	1980/81
		Doug Baguley	1972/73

THIRD XI REPORT

The 3rd XI experienced a testing season as we took on the challenge of playing in a higher grade for the first time. Whilst many different players showed they had the ability, consistency and depth left us finishing at the bottom of the ladder with just one win.

There were however a few highlights;

- The win against Hawthorn being the obvious team highlight, led by 95 from Jack Krohn and Matthew Francis collecting a bag of 5 wickets.
- Adam Burt finding some consistent form with the bat as he returned to the club this season. Having shown great application, Adam earned promotion through 45 and 41* in an outstanding display against Knox to the 2nd XI as they chased a finals spot.
- Matthew Francis provided many of the other highlights for the side, backing up an exceptional season last year, with another really good season. His bowling was the backbone of the side and his improvement with the bat was there for all to see, opening for the second half of the season having shown little ability the season before.
- The ongoing development of younger guys in the side, Tim Sharpe, Mark Shallue and Alex Brebner-Griffin all showed signs that have the ability and temperament to be very good cricketers for our club.

I'd like to thank every player who represented the 3rd XI, it wasn't always going our way, but many great club people were apart of the side and their support and efforts were appreciated.

Finally, I look forward to the 3rd XI bouncing back next season and wish whoever takes on the role as 3rd XI captain, the best of luck as well as any support I can provide.

PETER MORRISON

THIRD XI CAPTAIN

THIRD XI STATS 2010/11

Player	From	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	ВВ	C(F)	C(W)	St
Anthony J	09/10	5	129	4	32.3	1	0	87	0	17	-	0	0/17	2	1	0
Bach S	00/01	2	27	1	27.0	0	0	14	0	1	-	0	0/1	1	1	0
Borg B	03/04	1	0	1	0.0	0	0	0	2	22	11.0	0	2/22	1	-	-
Brebner-Griffin A	09/10	3	24	2	12.0	0	0	16*	0	65	-	0	0/10	4	-	-
Burt A	94/95	9	216	9	24.0	0	0	45	0	6	-	0	0/6	2	-	-
Burt D	92/93	3	33	3	11.0	0	0	14	-	-	-	-	-	0	-	-
Casha T	03/04	1	17	1	17.0	0	0	17	0	15	-	0	0/15	1	-	-
Classon A	02/03	1	30	1	30.0	0	0	30	0	35	-	0	0/35	1	-	-
Craine B	02/03	1	2	1	2.0	0	0	2	-	-	-	-	-	0	-	-
Di Stefano J	92/93	1	43	1	43.0	0	0	43	-	-	-	-	-	0	-	-
D'Addazio F	07/08	1	0	1	0.0	0	0	0	2	21	10.5	0	2/21	1	-	-
David B	07/08	1	18	1	18.0	0	0	18	1	2	2.0	0	1/2	0	-	-
Dhandapani A	10/11	1	4	1	4.0	0	0	4	-	-	-	-	-	1	-	-
Doran M	09/10	2	9	2	4.5	0	0	7	-	-	-	-	-	0	-	-
Downie J	05/06	4	57	4	14.3	0	0	23	1	19	19.0	0	1/19	0	-	-
Doyle D	07/08	2	-	-	-	-	-	-		234	17.0	0	2/34	0	-	-
Dwyer A	00/01	1	6	1	6.0	0	0	6	-	-	-	-	-	-	1	0
Francis M	98/99	11	145	11	13.2	0	0	38	18	399	23.2	1	5/37	3	-	-
Giannakopoulos C	08/09	2	9	2	4.5	0	0	6	-	-	-	-	-	0	-	-
Greenfield A	05/06	9	131	8	16.4	0	0	39	12	249	20.7	0	4/22	1	-	-
Hennessy D	08/09	1	9	1	9.0	0	0	9	1	30	30.0	0	1/30	0	-	-
Knox J	02/03	4	8	3	2.7	0	0	6	5	59	11.8	0	3/13	1	-	-
Krohn A	06/07	2	4	1	4.0	0	0	4	0	28	-	0	0/28	0	-	-
Krohn J	74/75	3	106	3	35.3	1	0	95	-	-	-	-	-	-	3	0
Lynch M	94/95	4	14	2	7.0	0	0	6*	0	100	-	0	0/18	2	-	-
Lynch P	89/90	1	27	1	27.0	0	0	27	-	-	-	-	-	1	-	-
McDowall R	92/93	1	3	1	3.0	0	0	3	-	-	-	-	-	0	-	-
McFarlane D	09/10	1	10	1	10.0	0	0	10	0	4	-	0	0/4	0	-	-
Mannix B	00/01	1	10	1	10.0	0	0	10	2	30	15.0	0	2/30	0	-	-
Moorhead T	10/11	1	1	0	1.0	0	0	1	0	15	-	0	0/15	0	-	-
Morris G	10/11	1	2	1	2.0	0	0	2	2	30	15.0	0	2/30	0	-	-
Morrison P	99/00	10	104	8	13	0	0	43	11	240	21.8	0	4/43	2	-	-
Newth J	09/10	1	1	1	1.0	0	0	1	0	24	-	0	0/24	1	-	-
O'Connell J	02/03	1	4	1	4.0	0	0	4	-	-	-	-	-	0	-	-

Player	From	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	ВВ	C(F)	C(W)	St
O'Connell M	99/00	1	48	1	48.0	0	0	48	1	24	24.0	0	1/24	1	-	-
Phillips G	10/11	1	22	1	22.0	0	0	22	-	-	-	-	-	0	-	-
Rowe S	98/99	7	91	7	13.0	0	0	36	8	170	21.2	0	2/19	1	-	-
Sandilands T	98/99	3	55	3	18.3	0	0	39	-	-	-	-	-	0	-	-
Sexton M	05/06	1	0	1	0.0	0	0	0	0	5	-	0	0/5	0	-	-
Shallue M	09/10	4	49	5	9.8	0	0	27	-	-	-	-	-	2	-	-
Sharpe T	05/06	6	95	5	19.0	1	0	51	-	-	-	-	-	-	8	0
Smith D	99/00	3	34	2	17.0	0	0	20	4	106	26.5	0	2/17	4	-	-
Terrill J	06/07	1	8	1	8.0	0	0	8	0	13	-	0	0/13	1	-	-
Williams M	03/04	2	14	1	14.0	0	0	11*	0	35	-	0	0/35	0	-	-
Williams Paul	10/11	2	18	2	9.0	0	0	10	-	-	-	-	-	1	-	-
Wood T	08/09	3	12	1	12.0	0	0	5	1	75	75.0	0	1/24	1	-	-
Zennaro P	88/89	4	24	4	6.0	0	0	8	-	-	-	-	-	0	-	-

TEAM AWARDS

Batting Champion – Adam Burt 216 runs @ 24, Highest Score 45

Bowling Champion – Matthew Francis 18 wickets @ 23.2, Best 5/37

Team Champion – Matthew Francis

409 Points. 145 runs @ 13.2, highest score 38, 18 wickets @ 23.3, Best 5/37, 2 catches.

TEAM RECORDS 2010/11: THIRD XI

WKT	PARTNERS	Runs	OPPOSITION
1	A Burt & J Di Stefano	39	Mazenod OC
2	J Krohn & A Greenfield	78	Hawthorn
3	M Francis & J Anthony	66	Burwood Uniting Canterbury
4	A Greenfield & P Morrison	46	Boroondara
5	J Krohn & S Rowe	86	Hawthorn
6	J Downie & B David	40	Hawthorn
7	T Sharpe & A Krohn	35	Mazenod OC
8	T Sharpe & A Greenfield	40	Burwood Uniting Canterbury
9	A Greenfield & D McFarlane	30	Wyclif
10	S Bach & D Smith	29	Burwood Uniting Canterbury

TEAM'S HIGHEST SCORE	223	Hawthorn
TEAM'S LOWEST SCORE	9/81	Wyclif
HIGHEST SCORE AGAINST	9/345	Burwood Utg Canterbury
LOWEST SCORE AGAINST	114	Wyclif
HIGHEST INDIVIDUAL SCORE	J Krohn	95 vs Hawthorn
HIGHEST AGGREGATE	A Burt	216 @ 24.0
BEST BOWLING PERFORMANCE	M Francis	5/37 vs Hawthorn
MOST WICKETS IN SEASON	M Francis	18 @ 23.2
Manage (1977)	A Brebner-Griffin	4
MOST CATCHES IN SEASON (FIELDER)	D Smith	4
MOST CATCHES IN SEASON (KEEPER)	T Sharpe	8

OVERALL TEAM RECORDS TO END 2010/11: THIRD XI

Wĸt	PARTNERS	Runs	OPPOSITION	SEASON
1	B Finnigan & R McGregor	178	Adult Deaf	1978/79
2	M Sheehan & N Hodgson	259	Mazenod OC	2002/03
3	J Krohn & L Fisicaro	241	S A Waverley	2001/02
4	N Hodgson & P Lynch	244*	Mazenod O C	2001/02
5	G Walker & A Murray	201	Bulleen	1984/85
6	A Purcell & D Kerr	138	Glen Iris	2007/08
7	A Tracey & G Chard	134	West Hawthorn	1998/99
8	S Joyce & D Burt	147	Nth Balwyn	1996/97
9	A Classon & M Funnell	98	S A Waverley	2002/03
10	K Lynch & J Murray	103	Glen Iris	1985/86

TEAM'S HIGHEST SCORE	9/479	Kooyong	1992/93
TEAM'S LOWEST SCORE	47	Bulleen	1976/77
HIGHEST SCORE AGAINST	4/431	Mulgrave	1977/78
LOWEST SCORE AGAINST	14	Burnley	1977/78
HIGHEST INDIVIDUAL SCORE	189	Tim Allen	1986/87
HIGHEST AGGREGATE	770	Basil Finnigan	1978/79
BEST BOWLING PERFORMANCE	8/25	Kevin Lynch	1981/82
MOST WICKETS IN A SEASON	69	Basil Finnigan	1978/79
Mana a	04	Doug Baguley	1974/75
MOST CATCHES IN A SEASON	21	Tim Allen	1993/94
MOST STUMPINGS IN A SEASON	5	Mick Drew	1983/84

FOURTH XI REPORT

In 2010/11, the 4th XI continued in its role as the club's development side. From a results perspective we had a mixed return. Byes and washouts meant that only nine games were completed. Of these, we won the first three and narrowly lost the next, then lost the next four before staging a great win in the final round. At this point we needed one of two results to fall our way to make the finals, but unfortunately it was not to be.

There were many memorable performances throughout the season. Mark Shallue's 84* led a terrific run-chase in the first game. Brad (118*) and Arjun's (84*) unbeaten opening stand of 224* in the second game was a pleasure to watch. In game three, we had club legends Dicky Corbett and Pugsley Robinson on board. Both made major contributions on the day and the young side responded to their presence with a nail-biting win (we took the last 7 wickets for 29 to win by 10). The next game saw Brad Craine take Mazenod apart with 163*, supported by Matt Doran's 47, in a mammoth run-chase that fell agonizingly short by three runs.

We were beaten comprehensively in our first two-dayer, but encouraging signs came from the bowling of Richie McDonald and Dom Hando who took 5/44 and 2/50 respectively and really led the way. We struggled to find form in the next three games, but everything seemed to click in the final round. Andy Murray's 85 led the team to a defendable total, before an amazing spell of 8/69 from Marty Lynch saw us home.

From a development point of view we had some great results. Current and recent juniors Richie McDonald, Mark Shallue, Matt Doran, Dom Hando, Kai Ogura, Tim Wood, Nick Cropley and Dylan Cropley all took lead roles in various games and I'm sure the experience they gained this season will be of great benefit. If we continue to encourage the progress of these guys then the future of our club is bright.

Having the 4th XI as a designated development side in the two-day competition has proven highly beneficial to the club for several seasons, and I hope the club sees fit to continue this arrangement into the future.

Personally, I'd like to thank the 32 players who played with the fours this season for their enthusiasm and effort which made it such an enjoyable team to play with. In particular, thank you to Jack Krohn, Andy Murray, Andy Greenfield, Brad Craine, Marty Lynch and Pete McDonald for the experience and leadership you brought to the team throughout the season. Thanks also to the committee for the hard work you all do just to get us out on the park every week, and to the selectors who do a great job in making a difficult task run as smoothly as possible.

Finally, on behalf of the fours I'd like to thank the whole club for your support of us this season. It was clear that everybody wanted us to do well, particularly in the final round when each of the other senior sides lent us tangible support through facilitating late changes, providing sub fielders, score updates or simply cheering us on from the boundary. Thank you all.

PETER LYNCH

FOURTH XI CAPTAIN

FOURTH XI STATS 2010/11

Player	From	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	ВВ	C(F)	C(W)	St
Beaton T	06/07	1	1	1	1.0	0	0	1	-	-	-	-	-	-	2	1
Borg B	03/04	1	-	-	-	-	-	-	0	30	-	0	0/30	1	-	-
Corbett R	90/91	1	32	1	32.0	0	0	32	2	34	17.0	0	2/34	0	-	-
Craine B	02/03	4	321	2	160.5	0	2	163*	-	-	-	-	-	0	1	-
Doran M	09/10	8	54	7	7.7	0	0	47	6	123	20.5	0	2/23	1	1	-
Dhandapani A	10/11	6	93	3	31.0	1	0	84*	1	174	174.0	0	1/34	3	1	1
David B	07/08	1	-	-	1	-	-	-	0	32	-	0	0/32	0	1	1
Cropley D	07/08	2	0	2	0.0	0	0	0	1	37	37.0	0	1/37	1	1	1
Cropley N	07/08	3	36	3	12.0	0	0	14	2	68	34.0	0	2/66	1	-	-
D'Addazio F	07/08	1	1	1	1.0	0	0	1	0	21	-	0	0/21	0	1	-
Greenfield A	05/06	4	38	1	38.0	0	0	19*	2	91	45.5	0	1/8	0	-	-

Player	From	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	BB	C(F)	C(W)	St
Hando D	09/10	6	6	4	1.5	0	0	4	3	119	39.7	0	2/52	1	-	-
Hennessy D	08/09	4	57	4	14.3	0	0	28	0	69	-	0	0/17	3	-	-
Holden K	09/10	1	6	2	3.0	0	0	6	0	18	-	0	0/18	0	-	-
Henderson J	03/04	5	38	7	5.4	0	0	10	0	37	-	0	0/7	0	-	-
lyer H	08/09	1	16	2	8.0	0	0	13	-	-	-	-	-	-	1	1
Knox J	02/03	2	-	-	-	-	-	-	3	51	17.0	0	3/35	0	-	-
Krohn J	74/75	8	163	8	20.4	1	0	57	-	-	-	-	-	1	5	1
Krishnaimoorthy P	10/11	5	7	2	3.5	0	0	4	1	54	54.0	0	1/22	0	-	-
Lynch M	94/95	4	30	1	30.0	0	0	21*	12	105	8.7	1	8/69	4	-	-
Lynch P	89/90	10	116	8	14.5	0	0	30	-	-	-	-	-	4	-	-
McDonald P	08/09	3	40	2	20.0	0	0	23	-	-	-	-	-	0	-	-
McDonald R	09/10	5	39	6	6.5	0	0	26	8	135	16.9	1	5/44	2	-	-
Jeyakumar H	06/07	3	17	4	4.3	0	0	9	4	160	40.0	0	2/50	0	-	-
Moorhead T	10/11	2	0	1	0.0	0	0	0	1	20	20.0	0	1/20	0	-	-
Murray A	78/79	4	150	4	37.5	1	0	85	-	-	-	-	-	1	-	-
Ogura K	09/10	7	10	3	3.3	0	0	10	5	198	39.6	0	3/51	1	-	-
Robinson D	84/85	1	45	1	45.0	0	0	45	-	-	-	-	-	1	-	-
Sandilands T	98/99	1	29	1	29.0	0	0	29	1	35	35.0	0	1/35	1	-	-
Shallue M	09/10	1	84	0	-	1	0	84*	-	-	-	-	-	0	-	-
Terrill J	06/07	1	-	-	-	-	-	-	-	-	-	-	-	1	-	-
Wood T	08/09	6	8	2	4.0	0	0	5*	5	133	26.6	0	2/13	0	-	-

TEAM AWARDS

Batting Champion – Jack Krohn 163 runs @ 20.4, Highest score 57

Bowling Champion – Richard McDonald 8 wickets @ 16.9, Best 5/44

Team Champion – Jack Krohn 219 Points. 163 runs @ 20.4, Highest score 57, 5 catches and 1 stumping as keeper, 1 catch as fielder, contributor to 1 run out.

TEAM RECORDS 2010/11: FOURTH XI

WKT	PARTNERS	Runs	OPPOSITION
1	B Craine & A Dhandapani	224*	Deepdene Uniting
2	B Craine & M Doran	115	Mazenod OC
3	R McDonald & M Shallue	26	East Doncaster
4	M Shallue & T Sandilands	78	East Doncaster
5	P Lynch & A Murray	85	Deepdene Uniting
6	A Murray & M Lynch	36	Deepdene Uniting
7	P Lynch & P McDonald	49	East Doncaster
8	K Holden & D Hennessy	28	Burwood Uniting Canterbury
9	D Hennessy & A Murray	33	Burwood Uniting Canterbury
10	D Hennessy & H Jeyakumar	28	Blackburn North United

TEAM'S HIGHEST SCORE	5/263	Mazenod OC
TEAM'S LOWEST SCORE	41	Burwood Uniting Canterbury
HIGHEST SCORE AGAINST	312	Burwood Uniting Canterbury
LOWEST SCORE AGAINST	151	Burwood Uniting Canterbury
HIGHEST INDIVIDUAL SCORE	B Craine	163* vs Mazenod OC
HIGHEST AGGREGATE	B Craine	321 @ 160.5
BEST BOWLING PERFORMANCE	M Lynch	8/69 vs Deepdene Uniting
MOST WICKETS IN SEASON	M Lynch	12 @ 8.7
MOST CATCUES IN SEASON (FIELDED)	M Lynch	4
MOST CATCHES IN SEASON (FIELDER)	P Lynch	4
MOST CATCHES IN SEASON (KEEPER)	J Krohn	5
	T Beaton	
MOST STUMPINGS IN SEASON	H lyer	1
	J Krohn	

OVERALL TEAM RECORDS TO END 2010/11: FOURTH XI

WKT	PARTNERS	Runs	OPPOSITION	SEASON
1	B Craine & A Dhandapani	224*	Deepdene Uniting	2010/11
2	J Krohn & A Hamilton	179	St Barnabas	2007/08
3	M Pivetta & P Docherty	265	Burwood	1999/2000
4	R Singh & P Zennaro	153	Northern Maccabi	1995/96
5	D O'Connell & K Burt	216	Canterbury	1998/99
6	J Krohn & A Smith	120	North Balwyn	1984/85
7	P Zennaro & M Francis	137*	Ashburton Willows	2007/08
8	G Walker & D Zennaro	107	Donvale	1984/85
9	K Lynch & B Banks-Smith	86	Burwood Uniting	1999/2000
10	T Sandilands & Tom Bach	110	Mulgrave	1998/99

T'	433	Marcellin OC	2005/06
TEAM'S HIGHEST SCORE	6/433 dec	Ashburton Willows	2007/08
TEAM'S LOWEST SCORE	29	Burnley CYMS	1985/86
HIGHEST SCORE AGAINST	6/476	Heathmont	1991/92
LOWEST SCORE AGAINST	32	Nth East Jewish	1983/84
HIGHEST INDIVIDUAL SCORE	203	John Krohn	1984/85
HIGHEST AGGREGATE	723	John Krohn	1984/85
BEST BOWLING PERFORMANCE	9/48	Chris Wood	1991/92
MOST WICKETS IN A SEASON	41	Chris Wood	1991/92
MOST CATCHES IN A SEASON	16	John Krohn	1984/85
MOST STUMPINGS IN A SEASON	9	John Krohn	1984/85

FIFTH XI REPORT

As there were no candidates for the 5th XI captain for the 2010/11 season, I decided to put my hand up and nominate myself for the job. I wasn't sure what to expect from the season, but overall I'm very glad I put my hand up and took on the captaincy.

We have had over 50 players represent our 5th XI this season, two of which were our under 14's who made a very impressive senior debut against the Abbotsford Anglers early in the year. At times during the year it was quite difficult to fill 11 spots to take the field on a Saturday afternoon. One Saturday morning at 10am we only had 10 players so I was lucky enough for my Dad to step in and volunteer himself for a game. This was a great experience to play with my Dad, but unfortunately his talent, or lack thereof, didn't get us across the line against St Barnabas.

One of the things I was very proud of is the fact that the 5th XI had the highest number of individual players to make a hundred during the season:

- Aaron Teelow, who also took out the 5th XI batting average, made the first hundred of the season for the 5th XI. It was a brilliant 117 against Heathmont in round three.
- I was lucky enough to score my first hundred (130) for this great club during the year. It came against Manningham in round 14.
- Calvin Pane was the third player to score a hundred (108) for the 5th XI this year. It came in the second of his three appearances for the club this year and it was a match winning 108 against South Camberwell.

As we had a number of players represent the 5th XI this season it was very difficult to get a core group to perform at a high level each week. We had multiple changes to our side for every game during the year. When it came to the second half of the season we were able to retain a few players for consecutive games, which gave us a good chance of making finals.

It came down to the last game of the year for us against the eventual premiers, Ashburton Willows. We played as best we could that day but unfortunately that wasn't enough to get the job done. The 5XI ended up in fifth position on the ladder at season's end. I am very proud of this effort and am glad that I had the opportunity to captain the side.

This season wouldn't have been possible if I didn't have some wiser heads around me helping me out in every aspect. I would like to thank the following guys who helped during the year and made my first year as captain an enjoyable one: Rowan McDowall, Aaron Teelow, Steve Ross, Nick Fennessy and Craig Hynes.

Tom Casha

FIFTH XI CAPTAIN

FIFTH XI STATS 2010/11

Player	From	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	ВВ	C(F)	C(W)	St
Anthony J	09/10	1	8	1	8.0	0	0	8	-	-	-	-	-	1	-	-
Bach Tim	98/99	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	-
Burt D	92/93	1	5	1	5.0	0	0	5	-	-	-	-	-	0	-	-
Casha P	10/11	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	-
Casha T	03/04	13	275	10	27.5	0	1	130	19	423	22.3	0	4/41	9	3	1
Chauhan B	03/04	1	0	0	-	0	0	0*	0	16	-	0	0/16	0	-	-
Cropley D	07/08	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	-
Cropley N	07/08	2	5	1	5.0	0	0	5	3	84	28.0	0	2/30	0	-	-
Curry A	91/92	1	17	1	17.0	0	0	17	-	-	-	-	-	0	-	-
David B	07/08	2	34	1	34.0	0	0	21	1	59	59.0	0	1/32	1	-	-
DiStefano Julian	92/93	1	4	1	4.0	0	0	4	2	36	18.0	0	2/36	0	-	-
Donald L	10/11	1	-	-	-	-	-	-	0	21	-	0	0/21	0	-	-
Doran M	09/10	2	10	2	5.0	0	0	10	0	4	-	0	0/4	0	-	-
Downie J	05/06	1	23	1	23.0	0	0	23	-	-	-	-	-	0	-	-
Fennessy N	01/02	4	53	3	17.7	0	0	36	-	-	-	-	-	0	-	-
Fisicaro P	99/00	1	4	1	4.0	0	0	4	1	21	21.0	0	1/21	2	-	-
Fraser C	05/06	6	37	3	12.3	0	0	15	6	116	19.3	0	2/34	4	-	-
Hamilton A	06/07	1	2	1	2.0	0	0	2	0	36	-	0	0/36	0	-	-
Hamilton C	09/10	1	23	1	23.0	0	0	23	0	28	-	0	0/28	0	-	-
Hando D	09/10	2	11	2	5.5	0	0	6	1	22	22.0	0	1/22	0	-	-
Henderson J	03/04	3	26	3	8.7	0	0	21	-	-	-	-	-	0	-	-
Hennessy D	08/09	3	6	1	6.0	0	0	5	2	83	41.5	0	2/32	1	-	-
Holden K	09/10	1	0	1	0.0	0	0	0	0	19	-	0	0/19	0	-	-
Hynes C	00/01	3	27	2	13.5	0	0	23	3	30	10.0	0	2/5	0	-	-
Irving T	10/11	1	2	1	2.0	0	0	2	0	23	-	0	0/23	1	-	-
Jeyakumar H	06/07	4	19	2	9.5	0	0	11	4	116	29.0	0	2/34	1	-	-
King A	08/09	1	44	1	44.0	0	0	44	1	23	23.0	0	1/23	1	-	-
Knox J	02/03	1	3	1	3.0	0	0	3	0	10	-	0	0/10	0	-	-
Krohn A	06/07	1	7	1	7.0	0	0	7	2	5	2.5	0	2/5	0	-	-
Lagastes H	09/10	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	-
Lamb T	09/10	2	73	1	73.0	0	0	46*	-	-	-	-	-	3	-	-
McDonald R	09/10	2	24	1	24.0	0	0	24*	1	81	81.0	0	1/53	2	-	-
McDonough R	10/11	2	0	1	0.0	0	0	0	1	13	13.0	0	1/13	3	-	-
McDowall R	92/93	9	285	8	35.6	3	0	82*	-	-	-	-	-	-	8	0

Player	From	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	ВВ	C(F)	C(W)	St
McGrath M	99/00	5	7	3	2.3	0	0	6	8	113	14.1	0	2/6	1	0	0
Moorhead T	10/11	3	2	1	2.0	0	0	2*	3	121	40.3	0	1/24	0	-	-
Newth J	09/10	8	32	2	16.0	0	0	20*	9	190	21.1	0	3/23	10	-	-
Nicholson A	97/98	10	214	9	23.8	2	0	55	2	14	7.0	0	2/14	3	-	-
O'Connell J	02/03	1	0	0	-	0	0	0*	-	-	-	-	-	-	1	0
Ogura K	09/10	2	1	1	1.0	0	0	1	3	49	16.3	0	3/43	0	-	-
Pane C	08/09	3	135	2	67.5	0	1	108	7	45	6.4	1	5/14	0	-	-
Ross S	90/91	4	60	2	30.0	0	0	47*	-	-	-	-	-	1	-	-
Rowe S	98/99	1	-	-	-	-	-	-	2	39	19.5	0	2/39	0	-	-
Sexton M	05/06	2	0	1	0.0	0	0	0	0	22	-	0	0/22	0	-	-
Shallue M	09/10	1	34	1	34.0	0	0	34	-	-	-	-	-	1	-	-
Singh A	10/11	4	81	3	27.0	0	0	45	8	85	10.6	0	3/12	2	-	-
Spithill D	97/98	1	12	1	12.0	0	0	12	0	15	-	0	0/15	0	-	-
Teelow A	01/02	11	398	11	36.2	3	1	117	1	31	31.0	0	1/15	8	-	-
Terrill J	06/07	6	47	5	9.4	0	0	30	-	-	-	-	-	0	-	-
Wigg X	10/11	1	18	1	18.0	0	0	18	-	-	-	-	-	0	-	-
Williams M	03/04	1	0	1	0.0	0	0	0	0	50	-	0	0/50	1	-	-
Zambelli R	05/06	1	37	1	37.0	0	0	37	-	-	-	-	-	0	-	-

TEAM AWARDS

Batting Champion – Aaron Teelow 398 runs @ 36.2, Highest Score 117

Bowling Champion – Tom Casha 19 wickets @ 22.3, Best 4/41

Team Champion – Tom Casha 699 Points. 276 runs @ 30.7, highest 130, 19 wickets @ 22.3, Best 4/41, 3 catches and 1 stumping as keeper, 3 catches as fielder, contributor to 1 run out

TEAM RECORDS 2010/11: FIFTH XI

WKT	PARTNERS	Runs	OPPOSITION
1	T Casha & J Henderson	48	Ashburton Willows
2	A Nicholson & A King	109	East Malvern RSL
3	A Teelow & C Pane	95	South Camberwell
4	R McDowall & A Nicholson	53*	Heathmont
5	T Casha & N Fennessy	73	St Stephens Greythorn
6	R McDowall & C Hynes	37	Ashburton Willows
7	A Teelow & M Doran	17	Ashburton Willows
8	T Lamb & C Fraser	31	South Camberwell
9	S Ross & B David	67	Abbotsford Anglers
10	R McDonald & H Jeyakumar	12*	Ashburton Willows

TEAM'S HIGHEST SCORE	8/271	South Camberwell
TEAM'S LOWEST SCORE	114	Ashburton Willows
HIGHEST SCORE AGAINST	7/285	Ashburton Willows
LOWEST SCORE AGAINST	49	St Stephens Greythorn
HIGHEST INDIVIDUAL SCORE	T Casha	130 vs St Stephens Greythorn
HIGHEST AGGREGATE	A Teelow	398 @ 36.2
BEST BOWLING PERFORMANCE	C Pane	5/14 v St Stephens Greythorn
MOST WICKETS IN SEASON	T Casha	19 @ 23.3
MOST CATCHES IN SEASON (FIELDER)	J Newth	10
MOST CATCHES IN SEASON (KEEPER)	R McDowall	8
MOST STUMPINGS IN SEASON	T Casha	1

OVERALL TEAM RECORDS TO END 2010/11: FIFTH XI

MOST STUMPINGS IN A SEASON

WKT	PARTNERS	Runs	OPPOSITION	SEASON
1	N Fennessy & N Hodgson	228*	Melbourne Deaf	2006/07
2	N Hodgson & S Ross	184	Melbourne Deaf	2006/07
3	B Docherty & R McDowall	138	East Malvern RSL	2006/07
4	P Fisicaro & R McDowall	233*	Glen Iris	2007/08
5	R McDowall & J O'Connell	173	St Kevins OC	2008/09
6	B Pandya & C Dunne	106	Burwood	2008/09
7	D Spithill & C Fraser	96*	Manningham	2009/10
8	P Mercoulia & M Pivetta	144*	St Barnabas	2002/03
9	S Ross & B David	67	Abbotsford Anglers	2010/11
10	T Beaton & M Francis	82*	East Malvern RSL	2008/09
TEAM'S	S HIGHEST SCORE	5/333	Abbotsford Anglers	2005/06
TEAM'S	S LOWEST SCORE	37	Heathmont	1999/00
HIGHE	ST SCORE AGAINST	373	Abbotsford Anglers	2005/06
Lowes	T SCORE AGAINST	49	St Stephens Greythorn	2010/11
HIGHE	ST INDIVIDUAL SCORE	156*	P Fisicaro vs Glen Iris	2007/08
HIGHE	ST AGGREGATE	855	N Hodgson	2006/07
BEST B	OWLING PERFORMANCE	6/14	E Behan vs Ashburton	2005/06
Most	WICKETS IN A SEASON	27	N Hodgson	2006/07
Most	CATCHES IN A SEASON	16	B Mannix	2003/04
11655	CTUAADINGC IN A CEACON	3	P Mercoulia	2002/03
$\pi\pi/\Lambda cT$	CITIAADINICCINI A CEACONI		*	•

B Mitchell

2005/06

CLUB XI REPORT

Following on from last season's washed out semi-final, the Clubbies were promoted to the LOC3 Division. The goal was to recruit new players, get past players back, achieve finals success and most importantly, enjoy the season on and off the field. Well, all but the premiership was achieved by a great bunch of blokes (average age of 41) – well done lads.

Thanks to Justin Murray's endless e-mails, phone calls and text messages as we welcomed new players Lee Neubauer, Greg Smith and Dale Wells with returning players Peter Williams (& his son Tom as our regular 12th man), Rob Hoich, just to name a few. Also, Josie advised the committee that Fitzy was to be Captain – I had no say in the matter apart from having to sack Robbie Kimber for not putting his hand up again!

The season proper got underway with our new location at Warner Reserve in Ashburton (our oval at Nettleton was deemed unsafe for any more senior cricket). As Boroondara Council's new ground / pavilion works were underway, we operated out of a builders site shed – bringing back old memories of Nettleton Park's tin shed and gas lantern days. The season was very wet with four washouts, disappointing for all teams in the club. Alas, we performed very well in the other 14 games ending up with nine wins, one tie, four draws and four losses to finish 4th on the ladder. This result pitted us against top side Salvation Army Waverley in the semi-final.

In a baffling move, we lost the toss and were sent in to bat, making the best of our allotted 40 overs on a very large oval to be all out for 138 with Lee Neubauer making 36. Our turn to bowl with Pete Williams and Mark Molloy who set up a brilliant start with great support from Josie and excellent fielding from the lads to have them all out for 78 – an excellent achievement.

Onward to the grand final against Mulgrave who were the best team all year (only two losses). They won the toss and batted sensibly and with purpose to make 5/207 from 40 overs. Our bowlers couldn't penetrate and some fielding efforts let us down. The run chase began disastrously losing three wickets for 14 after nine overs – a big recovery effort was needed. That came from big Rick Zambelli who batted for 39.1 overs amassing 89 in a final total of 8/150cc. He entertained a large group of STC supporters with power hitting putting the ball well over the boundary line eight times with seven 4's to boot! A disappointing result not going all the way but I was so proud of what had been achieved and the camaraderie of the boys – look out season 2011/12.

Milestones reached during the season were Justin Murray's and Mark Molloy's 250 games with Fitzy slipping in for 300 big ones – congratulations. Some special individual performances during the season were Dale Wells 110, Rick Zambelli's G/F performance of 89, Pete William's 5/6 and Fitzy's 6/20 (including a hat-trick).

To the efforts of all the players selected and regular supporters (Chardy and Tony Michaelides) thanks for your support. Thanks must also go to the wise men on the selection committee who no doubt enjoyed our "entertaining" conversations. Your efforts are appreciated within the scope of your charter by the committee.

The last few years we've had many new players welcomed down to STC in the Clubbies and all of us must keep making the effort to recruit, recruit, recruit.

Finally, I must say it's been a pleasure leading these ageing dinosaurs (and a couple of young one's) this season and hope to follow up with ultimate success next season.

EUGENE FITZWILLIAM

CLUB XI CAPTAIN

CLUB XI STATS

Player	From	Gms	Rns	Out	Avg	50	100	Hs	Wk	Runs	Avg	5WI	ВВ	C(F)	C(W)	St
Behan E	99/00	5	29	0	-	0	0	19*	5	83	16.6	0	2/20	2	-	-
Classon C	99/00	8	170	5	34.0	0	0	43	7	164	23.4	0	3/30	1	-	-
Curry A	91/92	2	56	2	28.0	0	0	41	-	-	-	-	-	0	-	-
D'Cruz D	96/97	8	55	7	7.9	0	0	25	-	-	-	-	-	2	-	-
Fitzwilliam E	73/74	16	77	7	11.0	0	0	20	22	354	16.1	1	6/20	4	-	-
Gemmell A	07/08	13	11	3	3.7	0	0	7	9	267	29.7	0	2/20	2	-	-
Glennon G	10/11	3	1	1	1.0	0	0	1	2	9	4.5	0	2/9	0	-	-
Henderson J	03/04	3	0	2	0.0	0	0	0	-	-	-	-	-	2	-	-
Hennessy D	08/09	1	3	1	3.0	0	0	3	-	-	-	-	-	0	-	-
Hoich R	82/83	5	65	3	21.7	0	0	27	-	-	-	-	-	1	-	-
Hoy S	86/87	1	14	0	-	0	0	14*	1	11	11.0	0	1/11	1	-	-
Hubbard D	04/05	1	-	-	-	-	-	-	1	19	19.0	0	1/19	0	-	-
Hynes C	00/01	1	-	-	-	-	-	-	-	-	-	-	-	0	-	-
Kimber R	87/88	3	10	1	10.0	0	0	10	0	77	-	0	0/18	2	-	-
McCulloch S	88/89	1	14	1	14.0	0	0	14	1	44	44.0	0	1/44	1	-	-
Molloy M	85/86	8	37	3	12.3	0	0	23	10	230	23.0	0	3/13	1	-	-
Moore R	91/92	1	2	1	2.0	0	0	2	-	-	-	-	-	0	-	-
Murray J	78/79	13	142	10	14.2	0	0	40	5	170	34.0	0	2/19	3	1	0
Neubauer L	10/11	13	399	12	33.3	2	0	76	0	6	-	0	0/6	4	1	2
Neubauer W	09/10	1	-	-	-	-	-	-	0	15	-	0	0/15	1	-	-
Rowe S	98/99	1	11	1	11.0	0	0	11	2	32	16.0	0	2/32	0	-	-
Singh R	94/95	10	101	7	14.4	0	0	30	1	40	40.0	0	1/15	3	-	-
Smith G	10/11	12	149	10	14.9	0	0	35	0	40	-	0	0/13	1	6	4
Smith R	09/10	10	59	5	11.8	0	0	24	0	23	-	0	0/23	1	-	-
Webb A	06/07	1	56	0	-	1	0	56*	0	12	-	0	0/12	0	-	-
Wells D	10/11	13	394	12	32.8	2	1	110	15	247	16.5	0	3/15	6	-	-
Williams Peter	91/92	12	12	2	6.0	0	0	12	25	217	8.7	1	5/6	2	-	-
Zambelli R	05/06	10	363	7	51.9	3	0	89	1	2	2.0	0	1/2	3	-	-

TEAM AWARDS

Batting Champion – Rick Zambelli 363 runs @ 51.9, Highest score 89

Bowling Champion – Peter Williams 25 wickets @ 8.7, Best 5/6

Team Champion – Dale Wells

678 points. 394 runs @ 32.8, Highest score 110; 15 wickets @ 28.2, best 3/15; 6 catches

TEAM RECORDS 2010/11: CLUB XI

WKT	PARTNERS	Runs	OPPOSITION
1	R Singh & D Wells	101	Clifton Hill
2	D Wells & R Zambelli	56	North Balwyn Combined
3	L Neubauer & R Zambelli	108	Clifton Hill
4	C Classon & R Zambelli	98	Mulgrave
5	G Smith & D Wells	30	North Balwyn Combined
6	E Fitzwilliam & G Smith	24	North Balwyn Combined
7	M Molloy & R Smith	33	St Barnabas
8	R Smith & A Webb	71*	Clifton Hill
9	D D'Cruz & P Williams	25	Mulgrave
10	E Behan & A Gemmell	27	Boroondara

TEAM'S HIGHEST SCORE	8/254	North Balwyn Combined
TEAM'S LOWEST SCORE	85	Mulgrave
HIGHEST SCORE AGAINST	3/239	Boroondara
LOWEST SCORE AGAINST	67	Eastern Salvation Army
HIGHEST INDIVIDUAL SCORE	D Wells	110 vs North Balwyn Combined
HIGHEST AGGREGATE	L Neubauer	399 @ 33.3
BEST BOWLING PERFORMANCE	E Fitzwilliam	6/20 v Mulgrave
MOST WICKETS IN SEASON	P Williams	25 @ 8.7
MOST CATCHES IN SEASON (FIELDER)	D Wells	6
MOST CATCHES IN SEASON (KEEPER)	G Smith	6
MOST STUMPINGS IN SEASON	G Smith	4

OVERALL TEAM RECORDS TO END 2010/11: CLUB XI

Wĸτ	PARTNERS	Runs	OPPOSITION	SEASON		
1	S Camilleri & P Mercoulia	332*	Ashburton	2004/05		
2	R Zambelli & E Fitzwilliam	242*	North Balwyn	2006/07		
3	N Hodgson & A Teelow	174	East Malvern RSL	2005/06		
4	N Hodgson & S Ross	150*	St Kevins OC	2005/06		
5	S Bailey & A Dawkins	155	Abbotsford Anglers	2002/03		
6	G Stewart & T Cameron	93	Manningham	2008/09		
7	S Hoy & M Sexton	92*	Clifton Hill	2009/10		
8	R Smith & A Webb	71*	Clifton Hill	2010/11		
9	R Kimber & D Hubbard	67	Burwood	2005/06		
10	N Maskiell & T Michaelides	43	Abbotsford Anglers	2003/04		
10 M McGrath & T Bach		43*	Abbotsford Anglers	2004/05		
TEAM'S	S HIGHEST SCORE	7/382	South Camberwell	2006/07		
TEAM'S	S LOWEST SCORE	81	Manningham	2008/09		
HIGHE	ST SCORE AGAINST	333	South Camberwell	2006/07		
Lowes	T SCORE AGAINST	33	Donvale	2006/07		
HIGHE	ST INDIVIDUAL SCORE	206*	S Camilleri v Ashburton	2004/05		
HIGHE	ST AGGREGATE	738	J Murray	2009/10		
BEST B	OWLING PERFORMANCE	6/15	S Hoy v Hartwell	2009/10		
Most	WICKETS IN A SEASON	38	S Bailey	2002/03		
Most	CATCHES IN A SEASON	15	E Fitzwilliam	2006/07		
A4		4	E Fitzwilliam	2006/07		
MOST	STUMPINGS IN A SEASON	4	G Smith	2010/11		

G Smith

2010/11

TOP TENS - 2010/11

	PLAYER	GAMES	Runs	AVERAGE
	S O'Connell	13	673	67.3
	R Zambelli	11	400	50.0
	L Neubauer	13	399	33.3
Most	A Teelow	11	398	36.2
RUNS	D Wells	13	394	32.8
SCORED	B Craine	9	364	52.0
	D Sharpe	11	328	29.8
	R Flint	13	300	27.3
	T Casha	14	292	26.5
	R McDowall	14	334	23.9
	PLAYER	GAMES	WICKETS	AVERAGE
	Peter Williams	12	25	8.7
	A Classon	10	23	10.0
	E Fitzwilliam	16	22	16.1
Most	D Doyle	12	21	16.7
WICKETS	L Colman	8	20	8.6
TAKEN	L D'Astoli	12	20	14.2
	T Casha	14	19	23.1
	M Francis	11	18	23.2
	B Coyle	13	16	17.7
	D Wells	13	15	16.5
	PLAYER		CATCHES	10.0
	J Newth	11	C AICHES	
	T Casha	10		
	L D'Astoli	9		
	S Fairbrother	9		
Most	G Elliott	8		
CATCHES	A Teelow	8		
(NON-	A Classon	7		
KEEPERS)	J Anthony	, , , , , , , , , , , , , , , , , , ,		
KLLI LK3)	Tom Bach			
	B Banks-Smith			
	M Lynch	6		
	D Wells			
	R Worthy			
	PLAYER	CATCHES	STUMPINGS	DISMISSALS
	S O'Connell	20	1	21
	T Sharpe	14	0	14
	G Smith	6	4	10
	J Krohn	8	1	9
WICKET	R McDowall	8	0	8
KEEPERS	J di Stefano	7	0	7
	T Casha	3	1	4
	L Neubauer	1	2	3
	T Beaton	2	1	3
	H lyer	1	1	2

TOP 10 PERFORMERS IN STC HISTORY

Most runs s	CORED	Most wicket	S TAKEN	Most games	PLAYED
PLAYER	Runs	PLAYER	WKTS	PLAYER	GAMES
John Krohn	10,841	Basil Finnigan	424	John Krohn	460
Kevin Burt	8,811	Greg Wignell	414	Kevin Burt	360
Bernard Docherty	8,774	Leigh Jondahl	376	Bernard Docherty	335
Rohan McDowall	7,293	Luke D'Astoli	332	Kevin Lynch	310
Kevin Lynch	6,042	Michael Mitchell	326	Eugene Fitzwilliam	308
Andrew Murray	5,960	Kevin Lynch	313	Andrew Murray	291
Patrick Docherty	5,957	Richard Corbett	293	Patrick Docherty	275
Alan Yarwood	5,892	Bernard Docherty	277	Peter Lynch	259
Julian Di Stefano	5,535	Eugene Fitzwilliam	275	J Murray	254
Steve O'Connell	5,493	Mark Molloy	267	Mark Molloy	250

Most ca ⁻ (non-kee		TOP WICKET-KEEPERS									
PLAYER	CATCHES	PLAYER	CATCHES	STPGS	DISMISSALS						
Eugene Fitzwilliam	203	Kevin Burt	387	210	597						
Bernard Docherty	175	John Krohn	270	64	334						
Michael Wignell	113	Julian Di Stefano	275	19	292						
Andrew Murray	113	Steve O'Connell	221	34	255						
Stuart McCulloch	103	Tim Allen	171	24	195						
Patrick Docherty	102	Gary Chard	144	29	173						
Justin Murray	102	Michael Drew	100	21	121						
Peter Sandilands	101	Doug Baguley	80	19	99						
Kevin Lynch	96	Ben Banks-Smith	75	8	83						
Peter Lynch	95	David Robinson	55	14	69						

TOP 10 PERFORMERS IN STC HISTORY

M	OST SCORES OF 50 OR MORE		MOST CENTURIES		HIGHEST SCORES
56	Rohan McDowall	17	Rohan McDowall	250*	Basil Finnigan
55	Kevin Burt	13	John Krohn	228	Mark Robertson
55	Bernard Docherty	11	Alan Yarwood	202	Greg Wignell
54	John Krohn		Greg Wignell	223	Ross Moore
42	Steve O'Connell	9	Basil Finnigan	206*	Steve Camilleri
35	Julian di Stefano		Bernard Docherty	203	John Krohn
33	Alan Yarwood	8	Stephen Ross	190	Tom Bach
33	Greg Wignell	7	Chris Hoare	189	Tim Allen
30	Stephen Ross	7	Steve O'Connell		
29	Andrew Murray		Michael Cain		
		6	Neil Hodgson		
			Julian Di Stefano		

MOST TIMES 5 WICKETS IN AN INF	NINGS	BEST BOWLING FIGURES	(ONE INNINGS)
Greg Wignell	29	John Aspinall	10/52
Basil Finnigan	20	Paul Aspinall	9/18
Leigh Jondahl	19	Greg Wignell	9/25
Michael Mitchell	17	Chris Wood	9/48
Kevin Lynch	1.1	Justin Hoy	9/82
Patrick Wignell	 14	Peter Sandilands	8/3
John Aspinall	13	Kevin Lynch	8/25
Phil Featherston	12	Eugene Fitzwilliam	8/27
Geoff Walker	11	Nick Oddy	8/40
Michael Learmonth		Jack Leahy	8/42
James Hall Jr	10		
Luke D'Astoli			

ALL PLAYER PERFORMANCES 2010/11

PLAYER	FROM	GMS	RNS	Оит	Avg	50	100	Hs	Wκ	RNS	Avg	5WI	ВВ	C(F)	C(W)	ST
Anthony J	09/10	11	209	12	17.4	1	0	87	0	48	-	0	0/17	6	1	0
Bach S	00/01	2	27	1	27.0	0	0	14	0	1	-	0	0/1	1	1	0
Bach Tim	98/99	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	-
Bach Tom	98/99	13	284	12	23.7	2	0	86*	-	-	-	-	-	6	-	-
Banks-Smith B	98/99	11	199	12	16.6	0	0	41	1	60	60.0	0	1/26	6	-	-
Beaton T	06/07	1	1	1	1.0	0	0	1	-	-	-	-	-	-	2	1
Behan E	99/00	5	29	0	-	0	0	19*	5	83	16.6	0	2/20	2	-	-
Borg B	03/04	2	0	1	0.0	0	0	0	2	52	26.0	0	2/22	2	-	-
Brebner-Griffin A	09/10	3	24	2	12.0	0	0	16*	0	65	-	0	0/10	4	-	-
Burt A	94/95	12	262	12	21.8	0	0	45	0	6	-	0	0/6	3	-	-
Burt D	92/93	7	78	7	11.1	0	0	16	-	-	-	-	-	0	-	-
Casha P	10/11	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	-
Casha T	03/04	14	292	11	26.5	0	1	130	19	438	23.1	0	4/41	10	3	1
Chauhan B	03/04	1	0	0	-	0	0	0*	0	16	-	0	0/16	0	-	-
Classon A	02/03	10	81	4	20.3	0	0	30	23	229	10.0	1	5/20	7	-	-
Classon C	99/00	8	170	5	34.0	0	0	43	7	164	23.4	0	3/30	1	-	-
Colman L	02/03	8	17	7	2.4	0	0	10	20	172	8.6	1	5/9	4	-	-
Corbett R	90/91	1	32	1	32.0	0	0	32	2	34	17.0	0	2/34	0	-	-
Coyle B	03/04	13	116	9	12.9	0	0	35	16	285	17.7	0	4/3	3	-	-
Craine B	02/03	9	364	7	52.0	0	2	163*	-	-	-	-	-	1	-	-
Cropley D	07/08	3	0	3	0.0	0	0	0	1	37	37.0	0	1/37	1	-	-
Cropley N	07/08	5	41	4	10.3	0	0	14	5	152	30.4	0	2/30	1	-	-
Curry A	91/92	3	73	3	24.3	0	0	41	-	-	-	-	-	0	-	-
D'Addazio A	04/05	11	36	3	12.0	0	0	20*	11	282	25.6	0	2/22	3	-	-
D'Addazio F	07/08	10	73	9	8.1	0	0	32*	7	162	23.1	0	2/21	4	-	-
D'Astoli L	96/97	12	181	6	30.2	0	0	37	20	284	14.2	0	4/45	9	-	-
David B	07/08	4	52	2	26.0	0	0	21	2	93	46.5	0	1/2	1	-	-
D'Cruz D	96/97	8	55	7	7.9	0	0	25	-	-	-	-	-	2	-	-
Dhandapani A	10/11	7	97	4	24.3	1	0	84*	1	174	174.0	0	1/34	4	-	-
Di Stefano Julian	92/93	10	206	11	18.7	1	0	69	2	36	18.0	0	2/36	1	7	0
Donald L	10/11	1	-	-	-	-	-	-	0	21	-	0	0/21	0	-	-

Doran M	ST
Doyle D	-
Dayser A Dayser A	-
Elliott G	-
Fairbrother S 09/10 13 187 10 18.7 0 0 44 11 259 23.5 0 3/13 9	0
Fennessy N 01/02 4 53 3 17.7 0 0 36 - - - - - - - 0 0 -	-
Fisicaro P 99/00 1 4 4 1 4.0 0 0 0 4 1 21 21.0 0 1/21 2 Fitzwilliam E 73/74 16 77 7 11.0 0 0 0 20 22 334 16.1 1 6/20 4 Fitzwilliam E 73/74 16 77 7 11.0 0 0 0 20 22 334 16.1 1 6/20 4 Fitt R 06/07 13 300 11 27.3 1 0 58 5 5 5 5 5 5 5 5 5 5	-
Fitzwilliam E 73/74 16 77 7 11.0 0 0 20 22 354 16.1 1 6/20 4 - Flint R 06/07 13 300 11 27.3 1 0 58 - - - - 5 5 1 Fogarty D 07/08 6 3 4 0.8 0 0 2 5 119 23.8 0 3/31 0 - - - - - 5/37 3 - - - - - - 5/37 3 -	-
Flint R 06/07 13 300 11 27.3 1 0 58 - - - - 5 5 1 Fogarty D 07/08 6 3 4 0.8 0 0 2 5 119 23.8 0 3/31 0 - Francis M 98/99 11 145 11 13.2 0 0 38 18 399 23.2 1 5/37 3 - - Fraser C 05/06 6 37 3 12.3 0 0 15 6 116 19.3 0 2/34 4 -	-
Fogarty D 07/08 6 3 4 0.8 0 0 2 5 119 23.8 0 3/31 0 - Francis M 98/99 11 145 11 13.2 0 0 38 18 399 23.2 1 5/37 3 - Fraser C 05/06 6 37 3 12.3 0 0 15 6 116 19.3 0 2/34 4 - Gemmell A 07/08 13 11 3 3.7 0 0 6 - - - - - - 0 2/20 2 - - - - - - - - 0 0 2 - - - - - - 0 0 2 - - - - - - - - - - - - -	-
Francis M 98/99 11 145 11 13.2 0 0 38 18 399 23.2 1 5/37 3 1 Fraser C 05/06 6 37 3 12.3 0 0 15 6 116 19.3 0 2/34 4 - Gemmell A 07/08 13 11 3 3.7 0 0 7 9 267 29.7 0 2/20 2 -	-
Fraser C 05/06 6 37 3 12.3 0 0 15 6 116 19.3 0 2/34 4 - Gemmell A 07/08 13 11 3 3.7 0 0 0 7 9 267 29.7 0 2/20 2 - Giannakopoulos C 08/09 2 9 2 4.5 0 0 6 0 0 - Giennon G 10/11 3 1 1 1.0 0 0 0 1 2 9 4.5 0 2/9 0 - Greenfield A 05/06 13 169 9 18.8 0 0 39 14 340 24.3 0 4/22 1 - Hamilton A 06/07 4 106 3 35.3 1 0 53* 2 81 40.5 0 1/17 2 - Hamilton C 09/10 1 23 1 23.0 0 0 23 0 28 - 0 0/28 0 - Hando D 09/10 8 17 6 2.8 0 0 6 4 141 35.3 0 2/52 1 - Handerson J 03/04 11 64 12 5.3 0 0 0 21 0 37 - 0 0/7 2 - Hennessy D 08/09 9 75 7 10.7 0 0 28 3 182 60.7 0 2/32 4 - Hoich R 82/83 5 65 3 21.7 0 0 0 27 1 1 1 19 19.0 0 1/11 1 1 - Hubbard D 04/05 1 1 1 1 19 19.0 0 1/11 1 1 1 - Hubbard D 04/05 1 1 1 1 19 19.0 0 1/119 0 Hynes C	-
Gemmell A 07/08 13 11 3 3.7 0 0 7 9 267 29.7 0 2/20 2 - Giannakopoulos C 08/09 2 9 2 4.5 0 0 6 0 0 Glennon G 10/11 3 1 1 1.0 0 0 1 2 9 4.5 0 2/9 0 Greenfield A 05/06 13 169 9 18.8 0 0 39 14 340 24.3 0 4/22 1	-
Giannakopoulos C 08/09 2 9 2 4.5 0 0 6 0 0 - Glennon G 10/11 3 1 1 1 1.0 0 0 1 1 2 9 4.5 0 2/9 0 - Greenfield A 05/06 13 169 9 18.8 0 0 39 14 340 24.3 0 4/22 1 Hamilton A 06/07 4 106 3 35.3 1 0 53* 2 81 40.5 0 1/17 2	-
Glennon G 10/11 3 1 1 1 1.0 0 0 0 1 1 2 9 4.5 0 2/9 0	-
Greenfield A 05/06 13 169 9 18.8 0 0 39 14 340 24.3 0 4/22 1 - Hamilton A 06/07 4 106 3 35.3 1 0 53* 2 81 40.5 0 1/17 2 - Hamilton C 09/10 1 23 1 23.0 0 0 23 0 28 - 0 0/28 0 - Hando D 09/10 8 17 6 2.8 0 0 6 4 141 35.3 0 2/52 1 - Henderson J 03/04 11 64 12 5.3 0 0 21 0 37 - 0 0/7 2 - Hennessy D 08/09 9 75 7 10.7 0 0 28 3 182 60.7 0 2/32 4 - Hoich R 82/83 5 65 3 21.7 0 0 0 27 1 1 - Holden K 09/10 2 6 3 2.0 0 0 0 14* 1 11 11.0 0 0/11 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	-
Hamilton A 06/07 4 106 3 35.3 1 0 53* 2 81 40.5 0 1/17 2 - Hamilton C 09/10 1 23 1 23.0 0 0 23 0 28 - 0 0/28 0 - Hando D 09/10 8 17 6 2.8 0 0 6 4 141 35.3 0 2/52 1 - Henderson J 03/04 11 64 12 5.3 0 0 21 0 37 - 0 0/7 2 - Hennessy D 08/09 9 75 7 10.7 0 0 28 3 182 60.7 0 2/32 4 - Hoich R 82/83 5 65 3 21.7 0 0 27 - - - - - 1 - Hoy S 86/87 1 14 0 - 0 0	-
Hamilton C 09/10 1 23 1 23.0 0 0 23 0 28 - 0 0/28 0 - Hando D 09/10 8 17 6 2.8 0 0 6 4 141 35.3 0 2/52 1 - Henderson J 03/04 11 64 12 5.3 0 0 21 0 37 - 0 0/7 2 - Hennessy D 08/09 9 75 7 10.7 0 0 28 3 182 60.7 0 2/32 4 - Hoich R 82/83 5 65 3 21.7 0 0 27 - - - - 1 - Holden K 09/10 2 6 3 2.0 0 0 6 0 37 - 0 0/18 0 -	-
Hando D 09/10 8 17 6 2.8 0 0 6 4 141 35.3 0 2/52 1 - Henderson J 03/04 11 64 12 5.3 0 0 21 0 37 - 0 0/7 2 - Hennessy D 08/09 9 75 7 10.7 0 0 28 3 182 60.7 0 2/32 4 - Hoich R 82/83 5 65 3 21.7 0 0 27 - - - - 1 - Holden K 09/10 2 6 3 2.0 0 0 6 0 37 - 0 0/18 0 - Hoy S 86/87 1 14 0 - 0 0 14* 1 11 11.0 0 1/11 1 - Hubbard D 04/05 1 - - - - - - -	-
Henderson J 03/04 11 64 12 5.3 0 0 21 0 37 - 0 0/7 2 - Hennessy D 08/09 9 75 7 10.7 0 0 28 3 182 60.7 0 2/32 4 - Hoich R 82/83 5 65 3 21.7 0 0 27 - - - - - 1 - Holden K 09/10 2 6 3 2.0 0 0 6 0 37 - 0 0/18 0 - Hoy S 86/87 1 14 0 - 0 0 14* 1 11 11.0 0 1/11 1 - Hubbard D 04/05 1 - - - - - - 1 19 19.0 0 1/19 0 - <td>-</td>	-
Hennessy D 08/09 9 75 7 10.7 0 0 28 3 182 60.7 0 2/32 4 - Hoich R 82/83 5 65 3 21.7 0 0 27 - - - - - 1 - - 1 - - - 0 0 6 0 37 - 0 0/18 0 - Hoy S 86/87 1 14 0 - 0 0 14* 1 11 11.0 0 1/11 1 - Hubbard D 04/05 1 - - - - - - 1 19 19.0 0 1/19 0 - Hynes C 00/01 4 27 2 13.5 0 0 23 3 30 10.0 0 2/5 0 -	-
Hoich R 82/83 5 65 3 21.7 0 0 27 - - - - - - 1 - - 1 - - 1 -	-
Holden K 09/10 2 6 3 2.0 0 0 6 0 37 - 0 0/18 0 - Hoy S 86/87 1 14 0 - 0 0 14* 1 11 11.0 0 1/11 1 - Hubbard D 04/05 1 - - - - - 1 19 19.0 0 1/19 0 - Hynes C 00/01 4 27 2 13.5 0 0 23 3 30 10.0 0 2/5 0 -	-
Hoy S 86/87 1 14 0 - 0 0 14* 1 11 11.0 0 1/11 1 - Hubbard D 04/05 1 - - - - - - 1 19 19.0 0 1/19 0 - Hynes C 00/01 4 27 2 13.5 0 0 23 3 30 10.0 0 2/5 0 -	-
Hubbard D 04/05 1 - - - - - - - 1 19 19.0 0 1/19 0 - Hynes C 00/01 4 27 2 13.5 0 0 23 3 30 10.0 0 2/5 0 -	-
Hynes C 00/01 4 27 2 13.5 0 0 23 3 30 10.0 0 2/5 0 -	-
	-
	-
Irving T 10/11 1 2 1 2.0 0 0 2 0 23 - 0 0/23 1 -	-
lyer H 08/09 1 16 2 8.0 0 0 13 1	1
Jeyakumar H 06/07 7 36 6 6.0 0 0 11 8 276 34.5 0 2/34 1 -	-
Kimber R 87/88 3 10 1 10.0 0 0 10 77 - 0 0/18 2 -	-
King A 08/09 5 79 5 15.8 0 0 44 4 96 24.0 0 2/37 3 -	-
Knox J 02/03 7 11 4 3.7 0 0 6 8 120 15.0 0 3/13 1 -	-

PLAYER	FROM	GMS	RNS	Оит	Avg	50	100	Hs	Wĸ	RNS	Avg	5WI	ВВ	C(F)	C(W)	ST
Krohn A	06/07	12	109	5	21.8	0	0	40	13	253	19.5	0	4/20	4	-	1-
Krohn J	74/75	11	269	11	24.5	2	0	95	-	-	-	-	-	1	8	1
Krishnaimoorthy P	10/11	5	7	2	3.5	0	0	4	1	54	54.0	0	1/22	0	-	1-
Lagastes H	09/10	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	1-
Lamb T	09/10	2	73	1	73.0	0	0	46*	-	-	-	-	-	3	-	-
Lynch M	94/95	8	44	3	14.7	0	0	21*	12	205	17.1	1	8/69	6	-	-
Lynch P	89/90	11	143	9	15.9	0	0	30	0	0	0	0	0	5	-	-
McArdle R	10/11	1	5	1	5.0	0	0	5	0	22	-	0	0/22	1	-	-
McCulloch S	88/89	1	14	1	14.0	0	0	14	1	44	44.0	0	1/44	1	-	-
McDonald P	08/09	3	40	2	20.0	0	0	23	-	-	-	-	-	0	-	-
McDonald R	09/10	7	63	7	9.0	0	0	26	9	216	24.0	1	5/44	2	-	-
McDonough R	10/11	2	0	1	0.0	0	0	0	1	13	13.0	0	1/13	3	-	-
McDowall R	92/93	10	288	9	32.0	3	0	82*	-	-	-	-	-	0	8	0
McFarlane D	09/10	1	10	1	10.0	0	0	10	0	4	-	0	0/4	0	-	-
McGrath M	99/00	5	7	3	2.3	0	0	6	8	113	14.1	0	2/6	1	0	0
Mannix B	00/01	1	10	1	10.0	0	0	10	2	30	15.0	0	2/30	0	-	-
Molloy M	85/86	8	37	3	12.3	0	0	23	10	230	23.0	0	3/13	1	-	-
Moore R	91/92	1	2	1	2.0	0	0	2	-	-	-	-	-	0	-	-
Moorhead T	10/11	6	3	2	1.5	0	0	2*	4	156	39.0	0	1/20	0	-	-
Morris G	10/11	1	2	1	2.0	0	0	2	2	30	15.0	0	2/30	0	-	-
Morrison P	99/00	12	122	10	12.2	0	0	43	11	273	24.8	0	4/43	2	-	-
Murray A	78/79	4	150	4	37.5	1	0	85	-	-	-	-	-	1	-	-
Murray J	78/79	13	142	10	14.2	0	0	40	5	170	34.0	0	2/19	3	1	0
Neubauer L	10/11	13	399	12	33.3	2	0	76	0	6	-	0	0/6	4	1	2
Neubauer W	09/10	1	-	-	-	-	-	-	0	15	-	0	0/15	1	-	-
Newth J	09/10	9	33	3	11.0	0	0	20*	9	214	23.8	0	3/23	11	-	-
Nicholson A	97/98	10	214	9	23.8	2	0	55	2	14	7.0	0	2/14	3	-	-
O'Connell D	96/97	13	198	13	15.2	1	0	53	-	-	-	-	-	5	-	-
O'Connell J	02/03	2	4	1	4.0	0	0	4	-	-	-	-	-	0	1	0
O'Connell M	99/00	10	142	9	15.8	0	0	48	10	168	16.8	1	6/28	5	-	-
O'Connell S	93/94	13	673	10	67.3	8	0	84	-	-	-	-	-	-	20	1
Ogura K	09/10	9	11	4	2.8	0	0	10	8	247	30.9	0	3/43	1	-	-
Pane C	08/09	3	135	2	67.5	0	1	108	7	45	6.4	1	5/14	0	-	-

PLAYER	From	GMS	RNS	Оит	Avg	50	100	Hs	Wĸ	RNS	Avg	5WI	ВВ	C(F)	C(W)	ST
Phillips G	10/11	1	22	1	22.0	0	0	22	-	-	-	-	-	0	-	-
Robinson D	84/85	1	45	1	45.0	0	0	45	-	-	-	-	-	1	-	-
Ross S	90/91	4	60	2	30.0	0	0	47*	-	-	-	-	-	1	-	-
Rowe S	98/99	9	102	8	12.8	0	0	36	12	241	20.1	0	2/19	1	-	-
Sandilands T	98/99	6	103	6	17.2	0	0	39	1	35	35.0	0	1/35	2	-	-
Sexton M	05/06	3	0	2	0.0	0	0	0	0	27	-	0	0/5	0	-	-
Shallue M	09/10	6	167	6	27.8	1	0	84*	-	-	-	-	-	2	-	-
Sharpe D	03/04	11	328	11	29.8	3	0	97	-	-	-	-	-	2	-	-
Sharpe T	05/06	12	114	7	15.7	1	0	51	-	-	-	-	-	-	14	0
Singh A	10/11	4	81	3	27.0	0	0	45	8	85	10.6	0	3/12	2	-	-
Singh R	94/95	10	101	7	14.4	0	0	30	1	40	40.0	0	1/15	3	-	-
Smith D	99/00	3	34	2	17.0	0	0	20	4	106	26.5	0	2/17	4	-	-
Smith G	10/11	12	149	10	14.9	0	0	35	0	40	-	0	0/13	1	6	4
Smith R	09/10	10	59	5	11.8	0	0	24	0	23	-	0	0/23	1	-	-
Spithill D	97/98	3	14	3	4.7	0	0	12	0	36	-	0	0/15	2	-	-
Teelow A	01/02	11	398	11	36.2	3	1	117	1	31	31.0	0	1/15	8	-	-
Terrill J	06/07	8	55	6	9.2	0	0	30	0	13	-	0	0/13	2	-	-
Webb A	06/07	1	56	0	-	1	0	56*	0	12	-	0	0/12	0	-	-
Wells D	10/11	13	394	12	32.8	2	1	110	15	247	16.5	0	3/15	6	-	-
Wigg X	10/11	1	18	1	18.0	0	0	18	-	-	-	-	-	0	-	-
Williams M	03/04	12	81	11	7.4	0	0	19	10	314	31.4	0	3/27	2	-	-
Williams Paul	10/11	2	18	2	9.0	0	0	10	-	-	-	-	-	1	-	-
Williams Peter	91/92	12	12	2	6.0	0	0	12	25	217	8.7	1	5/6	2	-	-
Wood T	08/09	9	20	3	6.7	0	0	5*	6	208	34.7	0	2/13	1	-	-
Worthy R	03/04	13	10	5	2.0	0	0	6	13	243	18.7	0	2/1	6	-	-
Zambelli R	05/06	11	400	8	50.0	3	0	89	1	2	2.0	0	1/2	3	-	-
Zennaro P	88/89	4	24	4	6.0	0	0	8	-	-	-	-	-	0	-	-

T20 PERFORMANCES 2010/11

PLAYER	GAMES	Runs	AVE	S/R	50 s	HS	WKTS	Runs	AVE	S/R	E/R	B/B	CF	CW	ST	RO
Bach Tom	6	86	82.7	14.3	1	0	54	-	-	-	-	-	3	-	-	0
Banks-Smith B	4	15	88.2	15.0	0	0	10*	-	-	-	-	-	2	-	-	0
Classon A	4	2	100.0	2.0	0	0	2	2	10.5	18.0	31.5	4/22	0	-	-	1
Colman L	4	5	125.0	-	-	-	5*	7	5.8	11.1	10.9	3/7	1	-	-	0
Coyle B	6	17	54.8	8.5	0	0	17	7	5.7	18.9	17.9	4/18	5	-	-	1
D'Addazio A	5	12	109.1	-	0	0	12*	7	3.7	16.0	9.9	3/14	1	-	-	1
D'Astoli L	5	52	73.2	10.4	0	0	19	6	3.8	18.3	11.7	2/13	2	-	-	1
Fairbrother S	6	71	112.7	14.2	0	0	48	13	4.8	10.2	8.2	4/11	1	-	-	1
Flint R	6	47	69.1	15.7	0	0	29	-	-	-	-	-	4	-	-	0
Krohn A	2	5	166.7	-	0	0	5*	1	4.1	48.0	33.0	1/15	1	-	-	0
O'Connell D	5	153	119.5	51.0	1	0	59*	-	-	-	-	-	1	-	-	2
O'Connell M	1	3	75.0	-	-	-	3*	0	18.0	-	-	0/18	0	-	-	0
O'Connell S	6	120	112.1	20.0	1	0	66	-	-	-	-	-	-	5	3	3
Sharpe D	2	14	116.7	14.0	0	0	14	-	-	-	-	-	1	-	-	0
Williams M	2	0	-	0.0	0	0	0	-	-	-	-	-	0	-	-	0

T20 AGGREGATE PERFORMANCES TO END 2010/11

PLAYER	From	GAMES	Runs	AVE	S/R	50 s	HS	WKTS	Runs	AVE	S/R	E/R	B/B	CF	CW	ST	RO
Bach Tom	08/09	16	319	102.9	19.9	2	0	82	-	-	-	-	-	8	-	-	1
Banks-Smith B	08/09	8	43	89.6	10.8	0	0	12	1	5.7	18.0	17.0	1/12	2	-	-	0
Classon A	08/09	14	39	84.8	4.3	0	0	8	14	6.8	16.7	18.9	4/22	4	-	-	3
Colman L	09/10	7	5	125.0	-	-	-	5*	10	6.6	13.8	15.2	3/7	1	-	-	1
Coyle B	09/10	7	19	55.9	6.3	0	0	30	7	5.7	18.9	17.9	4/18	5	-	-	1
D'Addazio A	09/10	8	14	116.7	-	0	0	12*	10	4.0	18.4	12.2	3/14	2	-	-	1
D'Astoli L	08/09	15	182	93.3	15.2	0	0	34	24	5.3	14.2	12.6	3/13	7	-	-	7
Fairbrother S	09/10	15	179	108.5	14.9	0	0	48	26	5.4	11.5	10.3	4/11	5	-	-	4
Fisicaro P	09/10	1	5	71.4	5.0	0	0	5	-	-	-	-	-	1	-	-	0
Flint R	08/09	16	95	69.9	7.9	0	0	29	0	5.5	-	-	0/11	11	-	-	3
King A	09/10	6	85	85.0	14.2	0	0	22	1	12.0	4.0	8.0	1/8	1	-	-	2
Krohn A	10/11	2	5	166.7	-	0	0	5*	1	4.1	48.0	33.0	1/15	1	-	-	0
Mercoulia P	09/10	5	37	80.4	12.3	0	0	27	-	-	-	-	-	1	-	-	1
Moore G	09/10	6	34	79.1	17.0	0	0	16	7	4.5	18.1	13.7	2/15	1	-	-	1
O'Connell D	08/09	13	278	119.8	25.3	1	0	59*	-	-	-	-	-	2	-	-	2
O'Connell M	09/10	2	3	75.0	-	-	-	3*	0	18.0	-	-	0/18	1	-	-	0
O'Connell S	08/09	16	334	119.7	26.8	2	0	66	-	-	-	-	-	-	14	3	10
Sharpe D		10/11	2	14	116.7	14.0	0	0	14	-	-	-	-	-	1	-	-
Spithill D		08/09	4	22	88.0	11.0	0	0	17*	7	6.0	13.7	13.7	3/20	1	-	-
Williams M		10/11	2	0	-	0.0	0	0	0	-	-	-	-	-	0	-	-
Worthy R		08/09	8	41	75.9	20.5	0	0	18*	8	6.1	21.7	22.0	2/24	6	-	-

ALL PLAYER PERFORMANCES (AGGREGATE) TO END 2010/11

PLAYER	FROM	GMS	RNS	Оит	Avg	50	100	Hs	Wĸ	RNS	Avg	5WI	BB	C(F)	C(W)	ST
Anthony J	09/10	24	485	24	20.2	3	0	90	0	77	-	0	0/5	8	1	0
Bach S	00/01	15	200	9	22.2	1	0	68	0	82	-	0	0/1	1	9	0
Bach Tim	98/99	102	356	48	7.6	0	0	46	-	-	-	-	-	20	23	4
Bach Tom	98/99	115	2558	88	29.1	9	3	190	43	890	20.7	1	5/33	59	2	0
Banks-Smith B	98/99	153	2362	123	19.2	9	1	104*	19	645	33.9	0	4/14	32	75	8
Beaton T	06/07	25	302	16	18.9	1	0	55*	0	11	-	0	0/11	6	12	1
Behan E	99/00	155	523	74	7.1	0	0	25	88	2126	24.2	1	6/34	59	-	-
Borg B	03/04	29	259	24	10.8	2	0	63	33	829	25.1	0	3/21	7	-	-
Brebner-Griffin A	09/10	13	62	8	7.8	0	0	24	13	322	24.8	1	5/37	7	-	-
Burt A	94/95	137	2379	127	18.7	12	1	108	3	216	72.0	0	1/6	34	-	-
Burt D	92/93	123	1921	95	20.2	8	1	103	86	2416	28.1	2	5/46	23	-	-
Casha P	10/11	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	-
Casha T	03/04	75	1048	78	13.4	3	1	130	51	1366	26.8	1	7/88	18	3	1
Chauhan B	03/04	5	35	3	11.7	0	0	20	5	76	15.2	0	3/3	0	-	-
Classon A	02/03	97	1238	65	19.0	1	1	183	152	3220	21.2	3	6/49	43	-	-
Classon C	99/00	116	2220	89	24.9	4	2	118*	36	868	24.1	0	4/21	34	-	-
Colman L	02/03	79	435	41	10.6	1	0	81*	127	2569	20.2	2	5/9	21	-	-
Corbett R	90/91	215	4476	177	25.3	23	5	152	293	5970	20.4	6	8/43	52	-	-
Coyle B	03/04	71	917	46	19.9	2	0	67	85	1910	22.5	1	5/20	32	-	-
Craine B	02/03	90	969	52	18.6	2	2	163*	97	2284	23.5	0	4/38	26	-	-
Cropley D	07/08	4	1	3	0.3	0	0	1*	1	37	37.0	0	1/37	1	-	-
Cropley N	07/08	6	41	4	10.3	0	0	14	5	159	31.8	0	2/30	1	-	-
Curry A	91/92	136	1949	135	14.4	6	0	78	-	-	-	-	-	32	10	0
D'Addazio A	04/05	55	229	20	11.5	0	0	44	86	1526	17.7	5	6/36	16	-	-
D'Addazio F	07/08	46	755	37	20.4	4	0	80	24	492	20.5	1	5/26	11	-	-
D'Astoli L	96/97	194	2780	130	21.4	11	1	112	332	6591	19.9	10	7/52	76	-	-
David B	07/08	34	270	22	12.3	0	0	29	26	788	30.3	0	4/26	15	-	-
D'Cruz D	96/97	45	490	40	12.3	1	0	77	-	-	-	-	_	9	-	-
Dhandapani A	10/11	7	97	4	24.3	1	0	84*	1	174	174.0	0	1/34	4	-	-
Di Stefano Julian	92/93	224	5535	207	26.7	29	6	161*	4	98	24.5	0	2/36	12	275	19
Donald L	10/11	1	-	-	-	-	-	-	0	21	-	0	0/21	0	-	-

PLAYER	From	GMS	RNS	Оит	Avg	50	100	Hs	Wĸ	RNS	Avg	5WI	ВВ	C(F)	C(W)	ST
Doran M	09/10	26	100	15	6.7	0	0	47	11	315	28.6	0	2/23	5	-	-
Downie J	05/06	33	549	30	18.3	1	0	61	11	369	33.5	0	3/25	6	-	-
Doyle D	07/08	28	102	14	7.4	0	0	19	53	1087	20.5	0	4/24	9	-	-
Dwyer A	00/01	60	700	43	16.3	3	0	69	76	1208	15.9	2	6/22	31	2	0
Elliott G	01/02	7	95	8	11.9	0	0	35	0	2	-	0	0/2	8	-	-
Fairbrother S	09/10	26	396	20	19.8	0	0	45	21	599	28.5	0	3/13	18	-	-
Fennessy N	01/02	110	1615	74	21.8	8	2	146*	71	1680	23.7	0	4/34	39	-	-
Fisicaro P	99/00	124	2877	120	24.0	12	2	156*	54	1692	31.3	0	4/33	60	4	0
Fitzwilliam E	73/74	308	5072	249	20.4	18	1	100*	275	5630	20.5	8	8/27	203	37	8
Flint R	06/07	60	1474	50	29.5	7	1	122*	12	262	21.8	0	3/0	24	-	-
Fogarty D	07/08	25	122	15	8.1	0	0	46	44	912	20.7	2	5/59	7	-	-
Francis M	98/99	73	512	49	10.4	2	0	53	85	1721	20.2	4	6/54	15	-	-
Fraser C	05/06	51	766	38	20.2	6	0	66	69	1357	19.7	1	6/14	14	-	-
Gemmell A	07/08	24	82	8	10.3	0	0	27	19	624	32.8	0	3/44	3	-	-
Giannakopoulos C	08/09	27	479	26	18.4	3	0	74	10	106	10.6	1	5/17	2	-	-
Glennon G	10/11	3	1	1	1.0	0	0	1	2	9	4.5	0	2/9	0	-	-
Greenfield A	05/06	67	637	48	13.3	0	0	43*	77	1852	24.1	2	5/21	13	-	-
Hamilton A	06/07	39	782	34	23.0	3	1	107*	25	694	27.8	0	4/48	12	2	0
Hamilton C	09/10	2	27	2	13.5	0	0	23	2	75	37.5	0	2/47	1	-	-
Hando D	09/10	17	52	11	4.7	0	0	12	6	219	36.5	0	2/52	1	-	-
Henderson J	03/04	20	149	17	8.8	0	0	40*	0	37	-	0	0/7	2	8	2
Hennessy D	08/09	31	229	19	12.1	1	0	56	12	464	38.7	0	2/25	12	-	-
Hoich R	82/83	5	65	3	21.7	0	0	27	-	-	-	-	-	1	-	-
Holden K	09/10	3	18	3	6.0	0	0	12*	0	37	-	0	0/18	1	-	-
Hoy S	86/87	161	2851	124	23.0	16	3	107	192	2965	15.4	8	6/15	81	-	-
Hubbard D	04/05	45	296	29	10.2	1	0	50	41	1101	26.9	0	4/21	17	-	-
Hynes C	00/01	116	1123	65	17.3	6	0	67*	154	2845	18.5	2	6/34	43	-	-
Irving T	10/11	1	2	1	2.0	0	0	2	0	23	-	0	0/23	1	-	-
lyer H	08/09	29	312	21	14.9	0	0	37	2	152	76.0	0	1/20	1	22	5
Jeyakumar H	06/07	34	191	16	11.9	1	0	50*	28	867	31.0	0	2/4	13	-	<u> </u>
Kimber R	87/88	140	2622	125	21.0	9	2	119	86	2333	27.1	1	5/13	61	1	0
King A	08/09	30	552	23	24.0	2	0	81	6	145	24.2	0	2/18	8	-	<u> </u>
Knox J	02/03	84	353	37	9.5	0	0	32*	53	1162	21.9	1	5/48	25	-	-

PLAYER	FROM	Gms	RNS	Оит	Avg	50	100	Hs	Wĸ	RNS	Avg	5WI	ВВ	C(F)	C(W)	ST
Krishnaimoorthy P	10/11	5	7	2	3.5	0	0	4	1	54	54.0	0	1/22	0	-	-
Krohn A	06/07	60	367	30	12.2	1	0	53*	68	1680	24.7	0	4/16	14	-	-
Krohn J	74/75	460	10841	439	24.7	41	13	203	6	137	22.8	0	1/0	86	270	64
Lagastes H	09/10	2	0	2	0.0	0	0	0	-	-	-	-	-	0	-	-
Lamb T	09/10	16	252	13	19.4	0	0	46*	1	44	44.0	0	1/1	3	-	-
Lynch M	94/95	129	1343	86	15.6	4	0	72	152	3457	22.7	5	8/69	65	-	-
Lynch P	89/90	259	4735	244	19.4	16	3	125	30	776	25.9	0	3/20	95	-	-
McArdle R	10/11	1	5	1	5.0	0	0	5	0	22	-	0	0/22	1	-	-
McCulloch S	88/89	180	3475	147	23.6	17	1	152	118	2493	21.1	3	8/83	103	-	-
McDonald P	08/09	9	107	7	15.3	0	0	33	-	-	-	-	-	3	-	-
McDonald R	09/10	14	109	10	10.9	0	0	26	17	361	21.2	1	5/44	2	-	-
McDonough R	10/11	2	0	1	0.0	0	0	0	1	13	13.0	0	1/13	3	-	-
McDowall R	92/93	210	7581	194	39.1	39	17	158	6	257	42.8	0	2/14	74	45	4
McFarlane D	09/10	9	40	5	8.0	0	0	13	8	223	27.9	0	2/18	0	-	-
McGrath M	99/00	85	460	34	13.5	0	0	40*	164	2963	18.1	3	5/34	17	-	-
Mannix B	00/01	99	976	49	19.9	1	2	133	154	2675	17.4	5	6/46	34	32	2
Molloy M	250	250	2559	164	15.6	5	1	128	276	6865	24.8	5	7/79	83	-	-
Moore R	91/92	93	2328	87	26.8	7	5	223	3	216	72.0	0	?	37	-	-
Moorhead T	10/11	6	3	2	1.5	0	0	2*	4	156	39.0	0	1/20	0	-	-
Morris G	10/11	1	2	1	2.0	0	0	2	2	30	15.0	0	2/30	0	-	-
Morrison P	99/00	144	1196	91	13.1	1	0	50	177	3849	21.7	2	5/11	30	-	-
Murray A	78/79	291	5960	288	20.7	26	3	129*	15	297	19.8	0	4/41	113	1	0
Murray J	78/79	254	4525	210	21.5	16	5	123	215	5179	24.1	6	7/102	102	4	0
Neubauer L	10/11	13	399	12	33.3	2	0	76	0	6	-	0	0/6	4	1	2
Neubauer W	09/10	1	-	-	-	-	-	-	0	15	-	0	0/15	1	-	-
Newth J	09/10	22	76	7	10.9	0	0	20*	37	709	19.2	1	5/40	13	-	-
Nicholson A	97/98	111	2671	91	29.4	15	2	109*	54	955	17.7	0	4/24	21	-	-
O'Connell D	96/97	167	3396	154	22.1	18	3	153	52	1523	29.3	1	5/29	76	-	-
O'Connell J	02/03	37	387	23	16.8	2	0	76	4	35	8.7	0	4/27	5	13	0
O'Connell M	99/00	103	1561	87	17.9	4	2	147*	43	876	20.4	2	6/13	50	2	0
O'Connell S	93/94	153	5493	137	40.1	35	7	176*	3	64	21.3	0	1/6	1	221	34
Ogura K	09/10	19	28	7	4.0	0	0	15	16	548	34.2	0	3/33	1	-	
Pane C	08/09	16	495	12	41.3	2	2	115*	10	183	18.3	1	5/14	5	-	-

PLAYER	From	GMS	RNS	Оит	Avg	50	100	Hs	Wĸ	RNS	Avg	5WI	ВВ	C(F)	C(W)	ST
Phillips G	10/11	1	22	1	22.0	0	0	22	-	-	-	-	-	0	-	-
Robinson D	84/85	80	2301	86	26.8	16	0	94	2	70	35.0	0	1/3	17	50	14
Ross S	90/91	217	4894	180	27.2	22	8	164	9	179	19.9	0	3/5	88	-	-
Rowe S	98/99	163	2067	136	15.2	8	0	79	207	4946	23.9	4	7/55	65	-	-
Sandilands T	98/99	65	772	52	14.8	3	0	80	29	872	30.1	0	4/39	27	-	-
Sexton M	05/06	14	44	7	6.3	0	0	27*	1	81	81.0	0	1/28	2	5	0
Shallue M	09/10	12	270	12	22.5	2	0	84*	0	15	-	0	0/15	5	-	-
Sharpe D	03/04	99	2499	95	26.3	14	1	154*	2	119	59.5	0	2/37	35	43	1
Sharpe T	05/06	42	353	28	12.6	1	0	51	-	-	-	-	-	2	45	2
Singh A	10/11	4	81	3	27.0	0	0	45	8	85	10.6	0	3/12	2	-	-
Singh R	94/95	77	1266	64	19.8	7	0	86	98	1909	19.5	2	5/38	30	3	0
Smith D	99/00	111	1061	48	22.1	3	0	84*	195	3838	19.7	2	5/34	43	-	-
Smith G (2010)	10/11	12	149	10	14.9	0	0	35	0	40	-	0	0/13	1	6	4
Smith R	09/10	20	150	14	10.7	0	0	28	8	194	24.2	0	2/29	1	-	-
Spithill D	97/98	156	2351	106	22.2	10	2	129	172	4312	25.1	5	6/47	59	-	-
Teelow A	01/02	76	1964	59	33.3	12	2	117	34	873	25.7	1	5/24	46	-	-
Terrill J	06/07	27	279	24	11.6	0	0	39	2	38	19.0	0	1/11	5	-	-
Webb A	06/07	17	277	7	39.6	2	0	62	32	480	15.0	1	5/21	3	-	-
Wells D	10/11	13	394	12	32.8	2	1	110	15	247	16.5	0	3/15	6	-	-
Wigg X	10/11	1	18	1	18.0	0	0	18	-	-	-	-	-	0	-	-
Williams M	03/04	18	139	17	8.2	0	0	20	11	357	32.5	0	3/27	3	-	-
Williams Paul	10/11	2	18	2	9.0	0	0	10	-	-	-	-	-	1	-	-
Williams Peter	91/92	66	317	31	10.2	0	0	40*	169	2449	14.5	9	7/24	13	-	-
Wood T	08/09	24	97	8	12.1	0	0	22	24	614	25.6	0	3/8	2	-	-
Worthy R	03/04	106	274	24	11.4	0	0	24*	195	2976	15.3	5	8/60	51	-	-
Zambelli R	05/06	51	1736	41	42.3	3	4	145*	3	60	20.0	0	1/1	18	-	-
Zennaro P	88/89	207	3768	200	18.8	13	4	145*	6	263	43.8	0	4/8	49	-	-